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GO0 | Q. Type-01 | RUET’ 11-12, CUET"’ 13-14, TUT’ 10-11 CUET® 03-04, BUTEX" 1011, 07-08
, , BUET’ 17-18, 14-15, 07-08, RUET" 15-16,
OO0 | Q. Type-02 EUK;‘_},'F;_‘:';'ZZZ’ p e e 09-10, 06-07, 05-06, 04-05, CUET” 08-09,
07-08, BUTEX’ 04-05, 03-04, 00-01
] BUET’ 11-12, KUET’ 18-19, 15-16, 13-14, BUET, 20-21, 19-20, 17-18, 16-17, 14-15,
QOO | Q. Type-03 | BUTEX’ 16-17, 15-16, 13-14, 11-12, 13-14, 12-13, 10-11, 06-07, 03-04,
IUT’ 21-22 KUET’ 08-09
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660 | Q. Type-06 KUET’ 18-19, 16-17, 13-14,12-13,11-12, 10-11, | 03-04, 01-02, 00-010, RUET" 10-11, 07-08,
: RUET’ 12-13, CUET’, 15-16, 14-15, 13-14, | 04-05, 03-04, CUET" 09-10, 07-08, 03-04,
12-13, TUT’ 21-22, 20-21, 19-20, 14-15, BUTEX’ 20-21
000 | Q. Type07 BUET’ 13-14, KUET" 15-16, 14-15, CUET" | BUET" 11-12, CUET’ 05-06,
: 13-14, BUTEX’ 15-16, IUT’ 21-22, 1920, 11-12 | BUTEX’ 20-21, 08-09
BUET’ 13-14, 12-13, 11-12, 10-11,
CKRUET" 20-21, KUET" 1112, BUET: 09-10, 08-09, 04-05, 02-03,
00O | Q. Type-08 | RUET’ 14-15, 10-11, CUET’ 13-14, g‘ﬁg}:{ 11'3_21*105[;3_51'0040'5“5{;6
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000 | Q-Type-09 | 15 13, CUBT" 12-13, 11-12, 10-11, 08-09, 07-08, CUET” 03-04, BUTEX’
BUTEX’ 16-17, 13-14, 12-13, IUT’ 19-20 07-08, 03-04
BUET’ 12-13, 11-12, KUET’ 15-16, 12-13,
©O | Q.Type-10 | RUET’ 14-15, 13-14, 10-11, CUET’ 13-14, | RUET’ 11-12, CUET" 05-06,

BUTEX’ 07-08, 05-06
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BUTEX’ 15-16, IUT’ 17-18, 14-15 RUET’ 19-20, 17-18, 15-16, 12-13, 10-11

CUET"’ 08-09, 07-08

BUET’ 16-17, 11-12, 09-10, 07-08,
05-06, KUET’ 03-04, RUET" 19-20,
18-19, 17-18, 12-13, 11-12, 10-11, 06-07,
05-06, 04-05, CUET’ 09-10, 07-08, 03-04,
BUTEX’18-19, 08-09, 07-08, 03-04

KUET’ 12-13, RUET’ 13-14, 12-13,

Q0O | Q. Type-
Q- Type-13 | (g1 14.15, 11-12, 10-11, BUTEX” 16-17
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0l. W‘Q‘Eﬁ@‘qﬁm ﬂrbﬁﬁﬂ:m @H? [Ans: d][CUET’13-14]
i [
(n}-—t 0- c— ®»0=C-0-R ()0=C—-0-H (d)0=C-0-C=0
02. fAwa czsml% Bster? [Ans: a, b][RUET’11-12]
I ]
(alﬂ—g—O—R' (b)R-E_o_R' (¢) R-C-R" (d) R—COOH (e) None
03. Which property is generally considered as the characteristic of an organic compound? [Ans: a][TUT'10-11]
(a) Low melting point (b) High melting point
(¢) Solubility in polar solvent (d) Insolubility in non-polar solvent
04. Which of the following is the functional group of ketone? [Ans: b][IUT'10-11]
(a) —OH b)>C=0 (c) —CHO (d) —COOH
05. A TACFA ol HLFs e [BUET'17-18)
() CBR (i) SUNRT (i) SHREGREG
AN
0 0 0 0
Il Il | Il
(i) -C— OR’ (1) —=C — NH, () —C—-0-C~—
06. AItoa FIEFA o< RIS APTILRI TSI G TArZad wie: [BUET"14-15]
@ZAfm  b)F0F (o) WECIRIGEEIIAS  (d) TOFe  (c) RS
- \HHRI
AAYIH: (E) R'\}RJ
Ra
(b) =C=C=0; Swzgs: H,C=C=0 (c) R — SCN; ®wizget: C,Hg — SCN
O
Il H
C |
(d)( ) )Ry — €~ OH
N-H OR,

07. frafEfe Tedn efefm Frdea s fefe e faxs [BUTEX'10-11, CUET’03-04, 05-06]
(%) STt (ﬂ)ww?ﬂ (*1) SO (9) WAfeRE  (¢) Goi

A mwﬁm - (A WFESEH —-C=C— (o) STETIEE —0 —
0
[
(ﬂ)mmmﬁcs—t:—ﬁ (&) w5 -C -0 —R
08. fitae cltslafem Frdear 7o fore [BUTEX’07-08]

) fAeomE  ¥) @i e o) FEfegRe
ATYF: F) —OH ) —COOH 1) —CHO

09. ZWRAAN? | [KUET’05-06]
STRIYE: G0 SRR Po A SR T st SfHem “RuiR T 9 60 T& (T @ 79 et 7R
IR, CANTSIT QUACE RAR I | (- GIRfRI3e 2AF — CHy — 0 —CH,

FIdeS 7919 : R/Ar— 0 — R'/Ar'
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TR NH,CNO —> H,N — CO — NH,
s SRR f{fe

I TS FIE 7 R T efetea s e e Agee @4 [CUET’03-04]
(¥) StEf (}) SRR (o) SRS  (9) AT (¢) 9OE QELIE

FATIT: (I 0T AT Sees Soif¥s cT wiaary At Awretdt wat oz B e STeeidry eifam “iRea 3=
I QR T AT 4 FrfTTSI e 0 oI ceifS wrfedt I b Rrarien o a1 ferarer o=t
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(@) SN = —C = C— () Sieraies — ~C = C- (51) SiteTPIRE— ~0-H
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01. TUPAC *&feT® (CH;)3CCH,CH(CH3), GRsifba I 17 [CKRUET'21-22]
(a) 2, 2, 4-trimethyl pentane (b) iso-pentane (c) 2, 4, 4-trimethyl pentane
(d) 1so-octane (e) 4, 4, 2-trimethyl pentane

AAYF: (a); C-IHJ ClHJ
'CH, — EIC‘—:CHI —ACH—"CH,

CH,
02. [UPAC #i&fSre CH4CH,CH(CH;)C(CH;)5 GIAiG7 7N - [CUET’15-16]
(a) Ethane di owic acid (b) 2,2 — di methyl, 3 — ethyl pentane
(c) 3,3,5 — tri methyl hexen (d) 2,2,3 — tri methyl pentane
CH,4 CH;
| |
CH,4
2,2,3 — tri methyl pentane
03. fAwea @F A7 [Ans: b] [RUET’14-15]
| [ |
- C=C - =C—~C—0~= —C=C-H
(a) H E E H (b) H E E O-H (c)H G C
propane ethanol
0
(dH-C-C—-C-—H (e) None
b &
ethane
04. (a)*li5fA® HerPw 7148 4, 4’ —dichlorodiphenyl- 1, 1, 1 ~trichloroethane [BUET'17-18]
(b) IUPAC i f&r4s (CH3),CH CO CH;
Cl
0 @
| CHj <
Satyr: (a) C1 — (I: —C—H ®) ey ,CH— (;0 —(I‘Hg (3-Fren=faenie-2-a7)
3
Cl @ 2 >
Cl
05. fmfeRe distefem sfie g ford [RUET’15-16]
(i) 2 - GFIEAT- 3 - frf3e f[Aeoma (i) 3 — RS- 1 - %A
(iii) 2,2 — SIRTPIEL CEITa (iv) 4 —IRGE! FreiRe eI (v) 9FTe SRR RIRE
Cl
|
FAAY: (i) HaC — CH — CH — CH, — OH (ii) H,C = CH — (]:l-l — CH, — CH;
CH,4 CH;
2—-@RN—3 felde REvrEs 3-fieiRe—1-cfoq
NH? 0
Cll - - C{f
(iii) H3C — ﬁ: ~ CH,; (iv) ) 0
R J— NOz a8 C{\
: 4-arhfirEe s 0
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06. (b) FtIE o RSy 7y e @

SO;H
AN (b); NH,

() FETiFEe offre (i) *irE-enie @afem ereee afre @

(iii) 4- SO (@A S uffe
07. o to1 cAtefem siefae seres B
N - ﬁﬁﬁiﬂmﬁ@

SO;H

o
FAY: CH; — C — N — CH,CHs

08. 3T AT
W CHB o CH: —y 0 CH?_ -— CHZ — CH3
09. N ﬁ‘ﬂ’iﬂﬁﬁﬁﬁﬂ?ﬁﬂ

10. iz 3w wga e forg
sarg: <O CH = CH,
11. feea cimvetam shsfe s fae |
() SR fREoH () AEIZT
(%) ©-BRURF-], -GIRURA CATTA () w-ifir REsTie afe
AAYH: () SR 8078 HaC — f: — CHj4 (¥) AASIRGS @—CONHZ
C"'I“H CH,H,
(57) ©-ZUZFA-], -GIZFARATATTH HaC — f‘: cln — CH, — CH;
CH;
(9) -t et affies  HiC - Hll': — H,C — COOH
12, fAeea e cstatama < sitefe e o
(a) 1-Gpar-2-fardiRe faewA
Cl CH,

' I
FTAM: (a) CH, ~ CH - CH, —CH,
13. feee valo o7 F¥s

(i) 2z Frize 2@

" (()CH; — O C2Hs
(ii) CHz — 0 — C3H; (i) IR cAroitRe 2| (if) fieaf¥ e
(iif) HOOC — CH, — CUS‘;DH (iii) T afie (i) cIteM ©ig wiie ufie
(iv) HOOC — (CHz)6 = (iv) R afe (iv) ST3+ 2 o
(v) HOOC — (CHZ)H — COOH ('U') Wﬁﬂhﬂﬁg (v) oL Gﬁﬁﬁlﬁ qfAG

[ (i) fRcefe 2o

[BUET’14-15]

[RUET’09-10]

[RUET’09-10]

[RUET’09-10]

[RUET’09-10]

[CUET’08-09]

[BUET’07-08]

[CUET’07-08]
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14, N1ofAT s s o-REe-s-REsme, suifm, Bual, iso -ci+iize fize 2am, Pl affe ;

AN 2- fiae -1- [Coma [CUET’07-08]
CH, -CH, -CH-CH, -OH
3
P oy
a. H : N
srfeme | T T o D
Cl H
C C NO
H \c/ cl ‘
7N\
Cl H
OH
CIHE | O,N NO,
iso -CATI2e fidider 3@e CHy — 0 — CIH Picric acid:
CH;
NO,
15. fRea Aot s s fards . [CUET?07-08)
CHy

FHYIA: 1 — Methyl — hexylamine: H3C — H,C = H,C — H,C — H,C — HC — NH,

16. fTea Avtete Sitdfie Faae s [CUET’07-08]
YN 2 —Pentene : H3C — HC = HC — H,C — CH,4
17. fAeoa 2=fb of@e s [RUET’06-07]
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HOOC-(CH,),. COOH iR afie LA TR Siiw ufiie
HOOC-(CH,)._ COOH

(CHz)s- 3T Uie @A TR ST ufre
HOOC-(CH;),_ COOH wm fire T W
HOOC- COOH ) N -

sifee affe | FRA R 9T Ufe
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18. fed =39 2IE SALEA 9 IUPAC @ GfSame emafers e [RUET?03-04,05-06]
AAHI:
e RE R R e TUPACE IR
CH; — 0-CH; w12 fAeide 22E
CHa— O- C,H; Py 3em EXEGAERIELENIE
C,Hg — 0 - C,Hse Bt 3w L EER EUERIE
CHz— 0 - C3H, ¥ canee fRreliZe ceitoiider 294
19. AT cistetea =i & [RUET’04-05]
CHy
1
SIYE: (i) H3C - CHOH-CH; (i) HsC — ¢ —OH
CH,
CETATET— X —[RIZET el -~

20. fATare apirf o STsrEa S SfoTa e o Srad s ENIRe ¢ WifFReRe | [BUTEX04-05]
AAIYI: EAAGINIZ0GT 510+ bifdra | 38 @@ aftes sres | SpfFviHaze shifite ufFites afes)

CONH,  NHCOCH;5

©

Benzamide  Acetanilide

21.  fAcate A Avid sTjrea Tryy sttam e s Srad s [BUTEX’04-05]
T uftre ¢ gl ufie

Y FHfee Oftie 2 crae ¢ Pigfae uffie crEm aes |
OH

5.1 NO, @/‘Ngi
=1

NO,
Frafie uffe

22. fufaRe widfe sreoatas e i 7 [BUTEX’03-04]
CH=CH-CHO COOH SO3NH2

COOCHS; @ " /@,OCHz - @,CH:;
) | (%) —

COOCH34

(®) {5.‘.H3 = EHZ _CO—C=CH () (CHs),—~CH — CH, — CHBr — COOH
FAAY: () T3 2 2F Tizeie afiie  (¥) 3 —FARea —2 -39 —1 — S|

qt I3 SEFItED |
() 2,5 — &2 freifd EEEnEe gfie) () 2 —fEe syt @wfEm e o)
() (fD—1 —FIZF—3 —& | (5) 2 — AT 4 —FN2e corvraifie ufie)
23, forEa coTIcEa i ey [BUTEX’00-01]
1 2 3 4 5 4 3 Eﬁ 1 3 2 1
(2) CH — CH = CH - CH-CH; (b)CH, =CH—- C— CHj (c) CH — CH — COOH
CH NH

YA (a) 2 PR 1% —2 39 (b) RCP —3 —39—-2 —a9 (c) 2 — SIS et e
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GTAPISTR ©F RS SIER e ueE Tan wiw sior e ¢ Refe e w@eT $@ o
ABGTRETET AR Frlred @ S el Qi Jt1 @@ e S Dextro @R Leva
ST BT @B fe (Racemic Mixture) 3t d1 firset a1 (+) e 3071 @ 2AfFTNes Efifirm
(Racemization) =T |
¢ IO G

@R ST SR GO I SIS P G S Se g foiRTEd o Siveet e
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1 Al I G g ST e A1 @R @R (@il vl elfefd iR

COOH
l,

HO-C-H
@ o brenifae ufse- m%mr
HO-C-H

|
COOH

CHy o0 93 I s1ST srigotetat frd | % 3, C4H, 00 @R eI 8 CyHpny 20 @2 Formula &7 F0Y Feet
1wz | oAt «F 2 5 S e RFER T 77 | @b 2o A S R

) CH.—CH,—CH,—CH,—OH | ") CHy—CH, — 0— CH, —CHy
B weT —1 L EERIEG EXE
] OH (ii) CH3 — CH, — CH, — O — CHj
- CH; — CH; — {.I'IH — CH; fRreiigeT ceite{ize 2R
faeo1=e-2 At sec oA
CH; | CH; — CH— 0 — CH,
(ii1) l (ii1) |
CH, — CH — CH, — OH CH,
iso — fqebIwe freze —2 — calreiize 29[
CH,
(iv) CHs;— !.': — OH
ci,
tert — OB
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C,Hg0 O isifoq WWWWI
7% T, 9% QI R C, Hor O @2 Formula @7 11T e 192 | T[S W7 &) ST SRR, fResis, 2,

WWﬂmmmmu

(i) CH3 — CH, — CH, — CHO [ I
CH; — C—CH, —CH; | CH; = C—CH,—CH;

OH

|
CH;=CH CH — CHj;

———

i) “Hs — CF — CHO ?H ’ ?:H
CH3 CHZ = CH S— CHZ — CHZ

OH

|
CHE"'C-_‘—CH_CH:;

OH

|

U‘H OH
I /\
CH = CH — CH, — CHj4

A
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9% QI fca foat @vate siae SeetE Aofie et @@ 91 7@ mwmm@ﬂﬁww
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CH:’_C—CH_‘.] CHE—C=CH2

OH

|
CH;, — CH = CH

"CH, — CH, _CHO

OH

|
CH, — CH = CH,
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QTS O Stwd H 99 AT el {57 Tl el ﬁi‘l‘qm?ﬂﬁﬂﬁwrﬁmmwwww GE
LG SEPGTE TG ST TR |

e /- /




VA WY

QTHTE AR Q6T Technique ZHz-

> AT TS I (N AT Srot FEARIR bF Sie0s 27 | SR#E @ B T Shuffle T Ty WIf Try
FACO A ﬂﬁPussiblﬂﬁT@WtﬂﬁWﬂﬁWW?ﬁww Shuffle T8 T |

> BT @6 i3 Srract o R Bt -

CeHyz = @R QU SifeFs Sieta Siwte =011 WG SitR ol
YT T F FACS TA?
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MCQ
01. How many structural isomers would the compound C¢H, 4 have? [Ans. b][IUT"21-22]
(a) 3 (b) 5 (c) 7 | (d)9
Br H
|
02. Strucwre of 2, 3-dibromobutane is- H3zC— C — ¢ — CH,4 [Ans. d][TUT?21-22]
I
H Br
This structure
(1) has two chiral centers (11) shows two optically active isomers

(iii) shows one optically inactive isomer
Which of the following is more appropriate?

(a) (i) and (ii) (b) (ii) and (iii) (c) (i) and (iii) (d) (i), (ii) and (iii)
03. C,Hg CICR FOGTE SRV 210+ FEA? [KUET'18-19)]
(a) 2 (b) 3 (c) 4 (d)5 (e) 6
CH;
CH,; —CH, / \
STI4: (d); H3C — CH, — CH = CH,, CH3 — C = CH,, CH3 — CH = CH — CHj, | I CH,—CH
| CH, —CH,’ |
CHjy CH,
04. CyHgO €T TG F1Y FH=Q? [BUTEX'16-17]
(a) 2 (b) 4 (©)5 (d)3
OH
|
FNYI: (d); (i) HaC — CH, — CH, —OH (i) H3C — CH— CHj (iii) H3C — 0 — CH, — CH;
05. C,BrCIFI Soifee s A8 @rsa ST 10t Zel- [KUET’15-16]
(a) 2 (b) 3 (c) 4 (d)5 (e) 6
Br F
T (e); )C = C{ ;o187 GT Y (I <Al T AT B2, SNET G bifers Rt T2 941
Cl [

4 15 for Tore 9T, S A = (4 - 1)1 =31 =6

L / - /




07.

08.

09.

10.

11.

12,

13

14,

R I 713 9HR—I-0R

[BUTEX’15-16]
(a) C,HO (b) C,H,0 (c) C4Hjg (d) C4HO
TRY: (d); C3HeO0
ﬁ OH
n
CHa ﬁ:ﬁ(;:q; CH; = H,C ;F%CHS
@A TS et e w2 (Ans: ¢] [RUET?13-14]
(ﬂ) CH:;CHECH — CHE (b) (CHE)ZE — CHCH-_;
(c) CH3CH = C(CD)Br (d) CH;C(C)) = CBr, (e) None
CeH4(NO,), &I TS SR siff® =2 [BUTEX’13-14]
(a) 2 (b)3 (c) 4 (d) 5
FAYI: (b) ; ortho + meta + para 319 |
d-=ioT WibiTes g4 @t 97 [BUTEX’13-14]
(a) +2.24° (b) —2.24° (c) +22.4° (d) —22.4°
AAIYIS: (a) ;
COOH o COOH
l |
H—Cl'—UH Ho—cl'-n
CH, CHS
d-lactic Acid (+2.24°) |-lactic Acid (=2.24°)
fea @ @ifos eniffes sTmige! aare? [Ans: d] [BUET’11-12]
(a) 1,1-SIRTHITAIRTAT (b) 1,1-SIATHTAIRRAT
(c) 1,2-SIRTHITAILAT (d) 1, 2-SiRTPTaiafRe
GIRTRAIICEAH (CgH4Br,) @7 37319 07 [Ans: ¢] [BUET’11-12]
(a) 96 (b) ¥o (c) feno (d) 512
H4C — CH = CH — CHs(Butene — 2) it (1 4ot STt et Fta? [Ans: ¢] [BUTEX’11-12]
(a) SE el (b) RISl (c) FERm e (d) SR e
(a) Feoa T T3 77? [Ans: iv][BUET?02-03]
H,C — CH,
(i) | | (ii) CH; — CH = CH - CH;
H,C — CH,
(iii) CH2 = CH — CH2 — CH3 (iv) CH3 — CH2 — CHO
(a) fTsa S st w2l FIE TR? [BUET’02-03]
| | | |
Hb—C- (i)b—C—c (iii) b — € — d (iv)b—€—d

AT (iii;; ﬁﬁl‘fﬂ?ﬁﬁ%ﬂﬁﬁﬂﬂﬂﬁﬁ%ﬂi%ﬁﬁﬁﬂﬂﬁ@l

Written

15.

i G

[UPAC *15f% 39217 904 fcaie clvia Mafve s |

(1) Transbute-2-ene, (ii) Cisbutene-dioic acid [BUET'20-21]
TR (i) H,c=c" (ii) ,-C C

sfageraa Ao RA%a AUGEL...

e VY,




/ @ / ' DTS 2T o1 TEGTH-0

16.  (a) FToa QIIFTILRA *MMofs STTFe ford W= ST S7g s/ G IoTaR 7Ares [BUET"19-20)
SIEIRS afirs, 7islts ufic

H
HO-"CH-COOH

|
TAYI: (a) Dieoifae ufie | ; A0S YT HoC — C* — COOH; SO STats Jery |
HO- *CH-COOH |
OH
CHO
17.  (a) Fooa Qesta ammBresra fre: H9+H [BUET'19-20)
CH,0H
(b) A& SYTS FHB FI3AE FIEH STR?
H\h(r: ‘?D
8 -’(|:'- OH
CHO H-C-oH
MEINICE (a)H—I-—'DlI (b) 4G s
CH,OH H - (|3 — OH
H -"(I:'- OH
°‘CH, - OH
18. f3T0-2 37 @ 2 PR i affre Torms Bfie siqet &g a7t 34 [BUTEX'18-19]
MY: CH; — CH = CH — CH,4
faeo-2~37
EH3 EH: H CHj Iil
\? il \ doil
1C=C{ jC=¢{ : CH;-?—COOH
H H CH, H

z—mf; gtrvrmﬁa afsre
Cis 731 GIsT 5731

feoory /[ coot

H- | -0l OH- | -H
CH.3 CH,
d mrafis e | woE afie

(T, cis-trans FHNIS! @ STFIF ANIS! TSAZ COfHS TSR SHEE, O Toraz, e Tmiqet fmyi= |
19. f&=f0 @t E, F @32 G a3 S H0S C3Hg0 1 E SEHIEe, F [F0H u3e G SHi#%ai3w | E, F 432 G AteR

AR AT AL 7 fere | [BUET'17-18]
AY: E 97 7193
OH H,C OH
CHy — € = CH C=C{
Hg= 5 = Lha H \H
caitol-1--2-e T ol -1- 39 -1- oo
= CH — CH, — H
CH, = CH — CH, — OH 5C v C;H
calr-2-2- 1 -5 i’ on
HEC\ GI91 2™ -1- 3 -1- 9
| JCH — OH
H,C
G
I i
I
F @3 9193 CH; — C — CH, G @3 3192 CH; — CH, — C — H

CATATE

I | - /
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20. ST HTFS CeHy, CATT TSIRT < SIS QTR THPTTEs o fFra [BUET'16-17]
CH> '[I:H3 CHj
7 N\ CH CH; CH, |
CH2 CH» /  \l [ | CH — CH;
e (i) | | Gi)cH, CH, (ili) CH— CH iv) | |
CH: CH: | | | | CH; — CH
A CH; — CH; CH; — CH; |
CHa
CH,
H,C CH; CH; H,C — CH,
C2Hs \ / | |
I CH CH CH,
(v) CH— CH, (vi) | (vii) i\ (viii) |
| | CH CH — CH CH
CH, — CH, / \ / \ [\
CHz — CHz CH3 CH:; CHZ —CH;
CHa
/ CH,
CH |
;:Hs | ¢ CHa CHZ
(ix) CH3 - tf — (lJHz (x) CH (xi) \C/
/ \
CH:‘*EH: f \
CH —CH
f CHZ iy CHE
CH,4

fRev: fAroa Tty ©© A4 41 I

(i)Q (ﬁ)é (iii)t( (hﬂ:k (v)ﬁj (vi) I
(vii) /A\ (viii) [ (ix)—l:I (x)é (x1) A

71, ST LTS C,yH,y o0 TR 515 e AN SRR @ MofA AT o q9R ame Ao AT

CrEd 9| [BUET?14-15]
SAAMY: (a) C4H1o0 @3 5198 HaC — CHy — CH, — CH, — OH [n-f9E0IHHT]
CHj
|
H,C— CH —CH, — OH  [iso-RC01+]
CH,
|
HyC— € - OH [neo-REGIHe]
CH,

HyC — CH — CH, — CH, [Secondary alcohol T, REHHA-R]

OH
22, (a)toE TR (@I CHFEE FNIS! AT T? [BUET’13-14]
(b) 7 470 (&4 AT Siffes et 789 137
(c) (B Y94 (& QA ST YS! HE?
Y (a) T PR~y B2 tea et v 2ifSgiere Spiabs Qv g3 4«9 G T FIGAErE SHEE |
(b) (T & WS F&q 74 | (c) T2 FIARME Qe

LI/ /[ oo [
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23. SIS A W QT 9I0 a — SERE @fFiten [ e Ao e Ages FY i R SitEs Afew T 269 I
AT A IBUET’12-13)

NH>

Y gk H—C— COOH

|

H

R WIS AT T AT QTS (T FIRA I F2

24, C3HoN Sieifdes wase srsfers Aisifoq sifefis Tagat ford @ T (@i S-S = w121 [BUET’10-11]
H H

WHCNCH

H C H
HHH

25. R R e Auige =1 e [Ans: b] [KUET’08-09]
(a) T ST Al o =™ (b)Cis @ Trans tﬂ’iwmﬁﬁml
(c) TR FIER AITOS T | (d) e RIS wiTam ware for fof fate s 3|
(e) for TR TLO! WIC1 i i Fea

26. B (C4Hy) CRoibT fomT i Ta19-9e s o [BUET?06-07]
FAYE: oA (C,Hg) @ stq fAwswet:
CH; — CH = CH — CH; - fJ®6 -2 — 3§
H,C = CH — CH, — CH; - f4%0 —1 - 3§

H,C = C f“"’—rz —frizeets —1 — 29
27. ﬁ%ﬁqﬁf"‘fﬁ? aﬁwqmmwwmmmWﬂmemﬁm [BUET?06-07]

H4C CH4 H,C
YA ) C= c’ ~>Pr-2-fREfR ) C= c’ - G —2 - R

H H CH,

28. forare amafAe ﬁmﬁm{m CT ST e AT Trard e [BUTEX?04-05]

CATole @ SRCAT Rt

AAY: 1 — AT FIGT SO >R 8 SHREA RN RIS T ot R |
OH

|
CH;-CH,-CH,OH CH;-CH-CH;,
n-C&ATATE 1S0-CRITTReT

29, C,H,Cl, %R 4f5® Freras 7 @ A3 Aerws e | [BUET’03-04]

HAAT4I:
Cl

C=CH, Cl—CH = CH - Cl

Cl
1, 2- GIRIFIRRNRT
1,1- GIRRIFCARRIAA

L /| - /)
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Question Type-04: I5 [T, Ko, a2y i

2 Concept:
¢ IEIWERE © RErewRrm Srgaes

(i) ERIGS RETFWEIRA | > NHT, H,0%, PH},CHY, SO;H*, X*,R;C*, RN* = N,NOZ, H*
(i) & QTSR IR » AICla, FeCly, BF3, S0, BCl3, ZnCl,, SbCls, CO;

(iif) oo RefpewRe | » X~,0H~,CH;, RCOz,0R~,CN~,NOZ, Br~, H™, BHZ, HS03
(iv) & fefFewias » NH,, R — OH, R — NO, NH,, PH3, H,0,R — NH,

> I ARG Yo/ STA Q3 F2H G A RESWITIR |
> N WGP Yo/ G F el Refpewida

-y qa Farga @ 3°>2°>1°> CH;
fr-Giee v wfeTea @ CHy > 1°>2°> 3°
RO < QA 30> 20> 1° > CH,
FLEAFRIFIRE 9 A FTOR T CH,y > 1°> 2°> 3°
FefrewRa v gilivg @ - CH; > 1°>2°> 3°
e eTIRe qd AGTOR TN 3u}2=>1=-;&5 _

S, TRICgd &Y ¢ AT @ wR RS

y | e : Aacts efegrem i, 3o Rt e sFiEe [fer om
2 | BES @RI ; afegre ¢ Yo [ o

o | Fefrariae : afowm, go fferar e septad Rig o

m%m ﬂﬁ%"m ‘El"'r;l:nﬂ ﬁﬂj‘%ﬂﬂ'
] ¥ ¥ \ ¥ 1
Ep N, B N, B, E,
O L £
==0) ( H: | =.0) F(tﬂ 'ﬁﬁ)+ | \/
St g2 (C-C.R-X,R-OH)
i
R-X, R-OH, R-O-R, R-C-OH, R-NH,, CHCl,
MCQ
01. frea oMt carene! ifemeca o CSTG] RN SITR? [Ans: d] [KUET'18-19]
@erdEtEE O FaeE () TEE@EERT () 3H-9fe
02. fsa MG TATETIZ- [BUTEX’14-15]
(a) PH3 (b) NH3 (c) BF3 (d) NCI;

IILE: (c); PH3, NHa, NCly &TOTIE & e~ SITR, *%FIG BF; W7 (7R | ©IRIG! BF; 99 B 91 w2 o9 |




o o v

Written

03. TE6R Y/ SiERaTaT (it STTE I @ Fisfremize e - [BUET'19-20]
AlClg, HzU, CHE = CHZ. NU; ) HCHO

TR RUTFGIFIZA: AlCl;, NOF, HCHO
Me{PeTIE: H,0, H,C = CH,
04. ﬁmﬁﬁmc&mﬁmwﬁmmﬁwﬁ%ﬁmﬁmﬁﬁﬁmﬂwﬁamwl [BUET"18-19]

H, -
: CHO cocl CH=CH,

(i) e freffers eifgrom (if) BT elfgrem
(iii) Frefaffeas e (iv) TG Serarem
(v) T elf ey
COCl CH=CH %
CH CHO =
HAAYI: (i) ©/ (ii) @’ 3 (iii) @/ (iv) @’ 2 (V) é
05.  frufaRoerat Zre Zreha Wl ¢ @raed Rems e 733 [BUET’14-15)

CH3CHZ , NOF, AICl;, CH3CH(CH;3)™, BFs, H,0, NH,, CH5CH,OH, F~, Brt
IAI: ARG SE [{a@: CHyCHY , NOY, AlCl,, BF,, Brt
@Ie RPraP: CH;CH(CH3) ™, H,0, NH,, F~, CH,CH,OH

06. fayfEfe Rttt w B [BUET’14-15]
CH,4 CHj
| Zn-Hg l
@H3C— C =0+4[H] —> H;C— CH; + H,0
O COCHg

| hyd AlCI
(b)CH3—C—Cl+@ s s 3@ + HCl

H H
a
(c)é + CHCl; + 3NaOH —» @5"”0 + 3NaCl + 2H,0

(d)@— N Cl-+ SO @—N=N +HCI

HO HO
A
(¢) CHz — CONH, + Br; + 4 KOH — CH3NH, + 2 KBr + K,C05 + 2 H,0

TAYE: (2) fFTIwom e (b) fFree-#es SwRErm (c) aiRuR-5igys &
(d) Freifere Ricrm/gsetm [fFat (o) 2gw Rrare=ts ffdrm

07. iy fAeea ever R[fdFm sfRte? [BUET?04-05]
Dry ether
(a) 2CH3 — CH, Cl + 2Na » CH; — CH, — CH, — CH; + 2NaCl
0 0 0
| AICl, | Il
('b)Z@-C—-{]—CHgﬁ C — CH; + HO C —CH,
ea
OH
Zn.H
(c) CHy — CO — CH, + 4[H] Hm“(mi < CHz — CH, — CHy + H;0

(d) R ~ COO — R'(I) + NH5(g) - R — CO — NH,(s) + R'OH(1)
ST () B0 Rfsmr  (b) ey o (c) fFrrrm fRammd (d) s

EE ) / - /




&Y

08. (a) {Wtba 1M wifers fRfeNer wiciamiorm? [Ans: iv] [BUET?02-03]
(i) HiC* (ii) (CH,),C*H (ili) H,C* = CH;  iv) (CH,),C*
(b) [RT6R 1R QAT sp? siesfis 316 [y (IR? [Ans: ii]
(i) CH; — CH; — CH, - CH, (ii) CH, = CH — CH = CH,
(iii) CH; = CH - CH, - CH, (iv) CH; — CH, — CH = CH,

Question Type-05: STIFTEDS JARTGIE, SITECE, SOEAR, SRR

< Concept:

¢ TOA AR
CICAT OV RS grentfenee siiiiferm r<aitas oo 2fenn @ sifamre yrel 91 =fee (knocking) 58 24, G712
AR i S o7 R FfR A0S TIHS iso-SFBH @ n-(RLBER A il 1 XAt A iso-SIge

T R, is0-SFLOTH (IR *oFal AR @ *nenfem Grefm Sue= Are1e e
Antiknocking agent : TEL, TML, Fe(CO) 5, Toluene
¢ SIS ST A RfeFmTRs

(n)hﬁﬁwwﬁmfwm A
NS R — COONa + NaOH(Ca0) - R — H + Na,C04(Ca0)
R = CH = CH - R + Hp ——=3 R — CH, — CH, — R
(i) ST '@ SOTTIRR (UL R MR

Ni, 150
R - C = CH + 2H, — R — CH, — CHj

R
" R—X+2Na+X—R——R— R+ 2NaX
(iii) So e f_feFa "
CEH_:;I + 2Na + CIHEI ——— CHgCHz — CHzCH:.] + Z2Nal

(iv) FFtame Rerad Rerym TR
(—CO —TFF —CH, — T AfRIS 77) | ZnHg
CHy —C—CH, + 4 [H] ———— e cr|3 ~CH;—CH; + H,0
R—MgX + H — OH = R — H + Mg(OH)X
(v) fatofiTe ferers caee C,Hs — MgCl + H — OH - C,H, + Mg(OH)ClI
(vi) G AT 2H3C— COONa +2H;0 —-—-—h-;ﬁ" II{3 C— Egy Cﬂ;-g +'2Nn0H +H|1
SIS TS

> Wﬁﬁﬂ?

;i'i.‘?-._-,'i-;-'--.;*.-;' BN E i3 e e o | A R i T O
oAfTBof ﬁﬁqsm CH, + Cly —— CH4Cl + HCl
CH,
AlCl;, HC |
Tt faferm CHs — CH; — CH, — CH; ——— CH; — CH - CH,
Pl,Al;045,500°C
wrAcIoead faferm CeHig m;; > CgHg + 4H,

B (6 EEC N/ /) oo )




N [ S/

¢ IEfPrAT AR &Ee e

RftFaa =T _
Al>04
CHECHZ — DH 350° _:4qu" CHE - CHE + Hz
(i) ECPIRCT AT fFeewe ALLO,
— — = CH, + H,0
CH,CH, — CH, —— CHyCH = CH,
H. — OH + H — 0SO.H ——5 CH3CH, — 0SO3H + H,0
CH3CH; —OR+ H — g — CH3LH; = 3 2
i) *IrSEE Jwre (Hean) 160°C
( ) CH:;CHZ =— 0503[‘[ — CHZ e CHZ + HzSDq,
- A
(iii) SUTETIRET YIRS (UTF CH4CH, — CH, — CH, — Br + NaOH(alc) >
HX SToIRel CH;CH, — CH = CH, + NaBr + H,0
‘ pPd,BaS0O
o i R—C=C—H+H, —— R~—CH=CH,
Hz H{W 25°C

¢

D
TSR H,C = CHz + 03 ——2 H,tf EH;-T- 2HCHO + ZnO
¢ SERTR NG (SO AAT)
Br Br
() G@fie Taet @t )C =C{+Bry » ¢ -]
Al 38
OH EH
N KOH /
(R) I AT : JC=C{+H0 + [0] i@q
o IO ifera It TR
(i) “feifitT erEfe: r
19510 A
n.Cﬂﬁ = CH, — (—CH, — CH% n
|
SO (—CH, — CHy —n
HERF 02 wferziafim ar ol
(i) *iferaffem aafs:
CH! EH3
| 140 atm |
n(CH, = CH) — | —=CH, - CH -
e et 120°C, TiCls sfe=nfifm
n
(ii) AfEfEwiza @@ rade (PVC) &EfS:
250°C
H—C= C—-H(g) + HCl(g) 2o CHz = CHCI(g) —cHz ~ CH -
2

e e




(iv) =TSR (Polystyrene) &i5fS:
A?Eyl CHE p— CI‘TS CH= CH 2 _-—CH — CHZ'-* 1
Fe,0,/Cr,O 1 izati
O +cHp=Ci, B> Q) L2odC0, G Py | :
ethylene ethyl benzene > 2 styrene polystyrene -
o CH; — CH; CH=CH, —CH - CHy— |
AlC Fe,0./Cr,O
O +cuy-cn, LG La0fCn0s, @y _fmem, | ¢y .
R 2T R * 2 R ol
(v) OTFeH (Teflon):

900°C
2CHCIF, — CF; = CF; + 2HCI

n(CF, = CF,) —™ , _CF, — CF
2 = CF; FESD4,H1D1( el In

¢ TIEIIRC YRt 2FS eefer:
| o

- TR A ek e
)
_‘f F —+ KOH(alc) » —C=C—+KX+ H,0
GIRITA ST RITE HX WP s
|
~G = €=+ KOH(alc) » —C = C = +KX + H,0
H X
X X
BT T ST (AT TS L
_cr_f_‘_+zzn—r —C=C—+2ZnX,
S X &
¢ ifolEm eefe:
2500°C N
Ca0(s) + 3C(s) —— CaC,(s) + CO(g)
(i) AR AEHS ’
CaC,(s) + 2H,0(1) » H—C = C — H(g) + Ca(OH),(s)
(ii) eirfe® st (Ree) e 6CH, (g) + 0p —— 2H — C = C — H + 2CO + 10H,
¢ Wﬁﬁm | F | _ _ I
. H ANREIE H E;r G
BTG T A —CEC-—+2HBr-a—Cf—F—
H Br
e () —C=C— + [o]mfﬂafﬁﬁﬁ:ﬂﬁv
4
ﬂ
CCl, L CHO
ST HC = CH + 03— HC —CH 53 3] 4700
<20°C {I:)...tl:] H:0 ¢cHo
2%HpeS0,,20%H-.S0O
CH = CH + H,0 —— % CH,CHO

e —.




V® /)

¢ IIEIRA-1 9T AT
e R e Reen *%vr&m&é"mﬁ#w%%&f"
YI'S] Na w4l R—-C=C—H+Na—»R—C=C~— Na + H,

ﬂ”tmliw‘“'ﬂ@ P | R_c=c-H+ [Ag(NH;);JNO; » R—C = C—Ag | +NH;NO; + NHy

J | R—C=C—H+ [Cu(NH;);]Cl1- R—C = C—Cul +NH,4Cl + NH
SRR CulNts). e ) 3

MCQ

01. SIHE CoTmTomm o< Siaet Boia i o AfRmS ez w4l =7 [Ans: b][CKRUET’20-21]
(a) Orion (b) Teflon (¢) Polythyne (d) PVC (e) All of them

02. fHtoa @i Gwaita TEaa? [Ans: d] [CKRUET"20-21]
(a) CH, = CH, (b) CHCI = CHCI  (c) C4Hs — CH = CH,
(d) CF, = CF, (e) CH, = CHCI

03. (I)C,H, (11 C,H, (1) C¢Hg (IV) C,Hg (V) CgH;Cl
T ISP C — C I ST W43y 416 <o1- [Ans: b] [KUET"18-19]
@IV>SV>II>I>1 G)IV>I>V>1>11
EOU>I>HNI>V>1V I>I>V>I>1V

@IV>1>11>V>IIl
04. HC=C - CH = CH, 1164 C — C 435 THRAGTS I (T T 906 O - [Ans: ¢] [KUET'17-18]

(a) sp? — sp? (b) sp — sp? (c) sp — sp? (d) sp® — sp’ (€) sp* — sp?
05. fAca fRfeF @t P @ w4 [KUET'16-17)
@ HNO3/H,S50, Sn/HCI NaNO,/HCI(0-5°) _ H,0/H' Heat
»M ——— N » 0 » P
(a) Sriffem (b) AN CH (c) Ferifiae affie
(d) C&F=eT (e) @Wwﬂmﬁmm
N2Cl NO?
o) s Q=@ me®
06. RCH,CH = CH, + ICl = [A] RfeFarm siaalarss e, [A] ZEl- [KUET'16-17]

(a) RCH = CHCH,I  (b) RCH,CHICH,Cl (c) RCH,Cl=CH,  (d) RCH,CHCICH,I  (¢) RCHCICH,CH, I
STA: (d); RCH,CH = CHy +IC1 — RCH,CH — CH,
Cl I

07. I B “fEmaTaTe GFaq “iNedr T? [Ans: d] [KUET'16-17)
(a) B2 b) @R () SNzE @Ride  (d) GRrTEfiT (o) 222H

08. A— L B—2 1 C—5D 2120, 2HCHO +Zn0 + H,0  Boices REFIT &R Gl 2emvorad
Feare faferat eve F90a? [BUTEX'16-17]
(a) A (b) B (c)C (d)D
STIYI: (c); SN TGP TG [T (77 @9 C 3057 Alkene |

09. (I oL YRYITELTM @ (T S[S AN 737° 27?7 [Ans: d] [BUTEX'16-17]
(a) Pt B (b) Fe 5 (c)AfFg e FT  (d) Ni o

10. Following equation is a part of preparing- [Ans: b] [TUT'16-17]
2CHCIF, —5 CF, = CF, + 2HCl
(a) Polythene (b) Teflon (c) Ploystyrene (d) PVC

Y / - /)




TN ) 2/

11. e @Riv ©ow Rierm [Ans: a][KUET?15-16]
() R— X+ 2Na + X — R —2 =", R _ R + 2NaX (b) R—C = CH + 2H, ———"3 R — CH, — CH
(¢) R — X + 2[H] ——5 R ~ H + HX (d) CgHg + 3Cl, D e, C4Cle + 6HC
(&) C;Hg 4 RY —2E8, CeHs — R + HX
12. 2 - REORER SSAERHNET “ineat T- [BUTEX’15-16]
(a) Formic acid (b) Propanoic acid  (c) Acetic acid (d) Butanoic acid
FON\

| H20  ethanoic acid
0-0 (acetic acid)
13.  Rom 2 A7 2FfSrs e H,50, @9 AfREs @ ufic 3w s wiiees oy 24 Aa?
[Ans: b][BUTEX’15-16]
(a) 510 (conc.) HCl  (b) #1i® (conc.) H3P0, (c) 71T (conc.) HNO5 (d) HNO,

14. 350 — 400°C S Bae Al,0, i B9 fAT CH; — CH, — CH,O0H G7 T BTeTa! Fate] Sl SR ZA?

(a) CHz — CH; — CH;4 (b) CH3 — CH = CH,, (c) CH; — C = CH
(d) CzHp (¢) CH, = CH, [Ans: b][KUET?14-15]

15. IRA Frtem ondy Sepite s el e at engre [Ans: b][RUET 13-14]
(a) Cg — C; (b) Cs = Cy (c) Cs = Cq (d) C;2 — Cys (¢) None

16. et corera e 2T F4a &A1 @i @16 I9ge @? [Ans: b] [CUET’13-14]
(a) H3C(CH;)sCH; () Pb(CoHs)y  (c) CqHg (d) None

17. R R Flaw Jor tedive I9%e =2 [Ans: ¢][BUTEX’13-14]
OKIGIERES ORIGRIEER (c) ifemenfaifEs (d) #fETfEnIZer St s ErraRy

18. Which is the length of solid chain of gasoline? | [Ans: d] [RUET’11-12])
(a) Cg — Cy (b) C1 — Cz5 () C25 = Cyo (d) Cs = Cy2 (e) C; —C4

19. wEfERRG @ f$B Zn/Hg 932 HCl 97 5ike RiErt o TRuged tod o Ritrmoe 2= =-
(a) Wolffkishner reduction (b) Clemmensen reduction [Ans: b] [CUET"11-12]
(c) Catalytic reduction (d) None of these

20. IR S LT SITR-- [CUET’11-12]
(a) one o and two T bonds (b) Three o and two 7 bonds
(c) two o and two T bonds ~ (d) None of these
Solution: (b); HC = CH QIS o 9%+ 3 0; o 99 2o

21. Following of which is produced after reacting CH;1 with metallic sodium? [TUT'11-12]
(a) C3Hg (b) C2Hg (c) C2Hy (d) C3H,
Solution: (b); CH3!l + ZNEt;—:ry CH; — CH; + 2Nal

22. o9 (i GFEm? - [Ans: ¢] [BUET’10-11]

@ (—HZC - CH —) (6) (G H—CHy =) (€) (~F2C = CF; =), (@) (~H,C — CH, =),

n
Cl o

23.  Which of the following is not a product of the fractional distillation of of petrolatum?  [Ans:b] [BUET*10-11]

(a) gasoline (b) ethanol (c) naphtha (d) Kerosene

24. 350° —400°C S@y ©a® Al,0; *IOOIEa ©od Mt e IItT SiEw T3 9 (ofd 2E?
(a) CHz — CH; — CH; (b) CH; — CH = CH, [Ans: b] [KUET?10-11]
(c) CH; — CH = CHO (d) CH, = CH, (e) CH;CH, — OH

N  EEC) /o /)
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25. SFOA QT AT ALFS - [Ans: ¢] [RUET’10-11]
(a) CgHyq (b) CgHy (c) CypH3s (d) C;Hg (e) CgHyg

26. SIS corRifER CoreTe Bemme T sidfFaad 9 W @ Tafers? [Ans: b] [CUET’10-11]
(a) #irSw (b) ST #rew (c) BT (d) T =TS

27. G CTHAICTR FIeTITa ST 17 80 IS AW A0 FRee, I TT47- [Ans: b] [CUET’10-11]

(a) 80% n-Hexane and 20% iso-octane (b) 20% n-Heptane and 80% iso-octane
(c) 20% n-Pentanc and 80% iso-octane (d) None of these

28.  Which of the following mixture is petrol? [Ans: b] [IUT'10-11]

(a) Aromatic hydrocarbons (b) Alkanes
(c) Alkynes (d) Alkenes
1
29. fRees fRfEao sy == [BUET'20-21]

CCl,

(ii) CH3C = CH + Br, ——

30.  (C,F,), “Fma cinifb s-xfbe ererme Soifdfers tofi ot 20l ©ITtS 0.012% S TR | AFF 9qre 3 © S

I AP n-9F N 76 T4 [KUET'19-20]
AAYE: 1 91Y-
C U9Sd =12amu, FUFSd =19 amu , S U994 = 32 amu
3x32 9% 1 .
QY sy = 0.012% = e = 0.012% = 100n + 96 = 8 X 10

s n = 7999.04 ~ 7999 (Ans.)

Br,{(CCl,) KOH( lL‘)
31. AeBfAfaea, 799 C;H 5—’3—-—‘+ A [BUTEX'19-20}

KOH(alc
SNYiF: CH, = CH — CHj (CT;CHE CH — CH, oL CH = C— CH, + 2HBr
3§ EI‘ Br
s A - CH,Br — CHBr — CHj
H,0 A ZnHg
32. CyHon-z 5ysg? A= B C & RIGF 71 41 [BUTEX'19-20]
(n=3) 209 H,504
T
2%HgS0 A | ~Hg,
ST CH;C = CH + H — OH :  , CHy —C = C— H— CH3C — CHz ——=— CH, CH, CH,
20% H,S0, (A) (B) (©
H,O
33. e RfeFmfe o) =: CH; — C = CH + 04 ? [BUTEX'18-19)
0 0 0
SO 1,0 o [ [

A HyC — C = CH—rHC C——CH —— H,C—C—C—H+H,0, » HyC - C — OH'+ H— C — OH
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34. fafEis «ifEmm garefE teftw s sufts amfe RitsmeR [RUET?15-16]
(a) AIERR T (b) PSR =12 (c) AFrORER @

_ . 1000-1200atm . o Chn
HAATYA: (ﬂ) TICHE CHZ 200°C, ﬂ;r [ CHZ CHZ ]n . Lﬂ""frﬁ, n=600-—1000
1609-250°C
H = CH » —
(b) C + HCI () e, Cltz = CHC
Cl

- |
nCH, = CHCl ——— | —CH, — CH -

LAV

PVC

@ e | @

(¢) nCH, = CH »|-CH, — CH -

=1

 sifEroiRfm
35, SRS SHIEHIRAGTE! (&7 SR By e a? [BUET’14-15]
FAY: AR SETFIZACTER S C o1 sp FeFES T | T 0 IHCA % AP s B @ =5 @R

SETBICETR SR Y 28 | F o« = AP i3 ¢ #iaie] 3F T8 e CSegs St (A S T At e |
T HY S & T8 @7 SH CAMFET et #ir

36. CaCy + H,0 — Ca0 + HC = CH, HC = CH% H, C = CHa, n(H;C = CHy) - —(CH, — CH, —),q
o RiTFTeteR YT SR 3T U AfFRRER toft a1 71 | 80 kg FEFHN FHIZT (ATS 2FS
sz RfEca wifar & a2 [BUET’12-13]
ANytA: e S, 64gm CaC, 20e #fFEffE 21 28gm
= 80 X 103gm CaC, 2% “fFf3RfFm 2 = z“““j‘”’ gm = 35 x 10%gm = 35kg (Ans.)

37.  2WRFR ItE b q2-41el RifEFara e fomza Grmie Se oy T4t T ) Yot (rane «3 aifS et [
T4 [BUET?12-13]

o]
H,C = CH, —22C_, HC = CH + H (1 STe )

ANTY[H:

HgCl
HC = CH + HCl ——— CH, = CHCI (izarem fferam)

150-200°C

38.  wf-afiBlem Rt fFena B a7 armafes RiFms T rane | [RUET?12-13]
A 4To9 a7 YA CH = CH ¢ @RA 1Y 31 AT eieglers Fate CH = CH @3 24 v et ofH-

wFfB R Rl e 9t | ©4F & 3500°C Sl Lo 2|

2C,H, (g) + 50,(g) — 4C0,(g) + 2H,0(g) + S
39. s fafermete s <4 [BUET*11-12, 06-07)

Br,+H,0
(ﬂ) CHE = CHZ ?
Bry+H,0
Aq4«: H,C = CH, R BrCH, — CH,Br

CHj 0 H,0/Zn
\ C= CHZ . ’ : 4

H,C H, O\
S X =CH, —%s HC\ - H, 222 ,14.C—CO-CH, + HCHO +ZnO)
-"Cé ?
O|—

) [/ - /[




40,

41.

42,

43,

45,

46.

47.

Y -

PSR & preiem it Srera afe tot Tt a7 RftFarTyz S 39
[RUET'05-06, 11-12, BUET’01-02, 11-12)

TR 1LFS.F1. @7 94 =1 =ifer fomizer otz | af fomizer cpmizves sfmm) '-

RAPIRFCE ST*f T 29T Ca0 @ #ifdichs Tt 20| W89 Ca0 & F4 At Reifie o wEbn ot

s at 21 WEBa FEiRvE aRrife @ 2R «f0e w6 T 2UEEE A Hel UERE T2

fomize ke @ W3 sifEmract R p.v. C. tsf =)

1000°C 2000°C
EHCOE » Cal + CDE% Ca0 + 2C o » CHC; + CO
0o

C
CaC, + H,0 — C,H, + Ca(OH),: CH = CH + HCI :gm » CH, = CHC
2

Cl
s— i
n(CH, = CHCI) ; (-t:ﬂ2 — CH —)
n

What is Octane number 907 [BUET’10-11
Solution: The efficiency of a fuel which is equal to the efficiency of a mixture of 90% isooctane and 10% n-
heptane

TS AT sfafofe i [BUTEX’10-11]
TAYA: (—CF, — CF, —),, »*fFogrgeat 2Rfm '

fAcea tera cstefEm sefe Aaae e [RUET’09-10]
A2 (Glycine)

AYS: H,N — CH, — COOH

oo T reaebe YrgE 2@ 9. [CUET?09-10]

CHE = {:Hz + 03 -
HoyvO H 10

ﬂ‘ﬂT‘ﬂ‘f:H HTZH—CH0+ZnD
0
At SHEtETER SR S, A1 8 ORI TiF [RUET’08-09]
CE HB- CEHIZI C‘? Hlﬁr CZ HE
AAYI:
STE T A e R g st R e
CsHg 44 —-188°C —42°C
CsH,, 72 —-129.8°C 36.1°C
CyHig 100 —-96°C 68.5°C
CzH,ﬁ 30 —182.H°C _Bguc
AT TN TR (ANS T qB T4- [RUET'07-08, CUET’04-05]

3R W9 FIGITE epeit Tae e esiRs ¥a Bor 2[ifEe Fate-
SAYI: HyC = CH, + Hp — — CHy — CHy

it epeteTe S Mies

S[HLOA AFITR ALl TS | S 71714 80 TACS i A7 [RUET’04-05]
TG (I GF0 GIeTNT iso —SFLod @ n — QWWWWWQWWED—W
AICF, OF o571 “{fFIoZ ST FFE | THOA FHE 80 IS AW @ GrEnen 20% n -B A3 80% iso -
SPLOCTE SN GETifs wEret Sog i |

J o )




Vi WA

48. (F) G0 (MO G SHCoA 757 78 900 15 JAA? [CUET’03-04]
() AT fRwet #iffmte H,S0, TS 160°~170°C SoINIaR @S were 9 906 TRz
FAYI: (F) 9F0 i6a Grenmig SHo A5 78 I970e IR (@ G 22% n —E08T @ 78% iso —STieta
et ST A et oo e
() AT faadt #AfFamet H,S0, It 160°—170°C SIoNiar Sae ate 3Rq Sesim =

100°C
CH; — CH, — OH + H,S0, > CHz — CH, — 0SO3H + H,0
CH; — CH, — 0SO HIE'L ;;“ £ 5 CH, = CH, + H,S0,

49.  (a) AT @ SN Toe 2RGRETTTER Fad 7S B [CUET’03-04]
W CnHErj, CI"IHZII-Z
50. FEPHN S [Form SR woiiefic sam, Rt S orals | [BUET’01-02]
1000°C
TYI: CaCO, »Ca0 + CO, 1
2000°C C \

3C+ CaO » CaC, +COT ;

Ca+2H,0 - H—-C=C-H+ Ca(0H),
FrEbmT R C/

Question Type-06: W@WW SRINCATGERH

SETATo* tﬂmﬁﬁ'f@—r{*@mmﬁﬂﬁ aifegrem fafer

@ Concept:
¢ @, @AfEW WIeT ¢ @AM Ol STRGS! g QA fFENSfaE (4n+2) FRATE AN ZreTRGw
A IR o Q19T ST et T |

¢ QTP A
T oY

o G G9! ARG XIRTE GIT 5T SRR SIS Gl R s T3 | 92
*[SGTANP LT G J4T1 2 |

o GBI TS (flat) @ G 20O (A |

o YA FAGCTR BATE @ A6 SR Teermer e (delocalized) T ARG (T </FT© A |

o T S AT AL p SRROIT o= TR SN SAZ FACE | TS BT

bl BIRPT SIS SfEeEFae 72T T |

o NI p SATITGTA SRGFIA T2 (4n + 2) AT 11 BERET Sz T2 |
@A n = 0,1,2,3 217 %)< 22T

¢ @fE erEfes
faferatz fferat
() o/ (©)-coona + NeOH(C20) 25 (D) + NaCO(Ca0)
(ii) e A QOH”"J" ©) +zm0
(iii) e raTad 3HC =CH EEE CeHpg
(iv) feomre fases e CeHsMgCl + H — OH — CgHg + Mg(OH)CI

1) / - /




v) e s —
(v) {(O)—N,01+ HyP0, + ;0 —— (O +1,p0, + N, + Ha

FRIRC AT
Pt.Al; 04
(vi) 22~ CcHe — ‘{::%,, +Hy ——— CeHe + %1;;
fCepIEHIRET™N PLAI, O,
C5H4(CH3)2 <+ HZ —EUF} CGHE + Céglqﬁ
¢ (e RfdFaTRe
Cl
Sa @ +HCI
w%- AIClL,
CH;
CH,C! @
o%- AICL, > +HCI
COCH,
CH,CO" CI™ @ |
“ss- AICL, ( ) +HCI
i &'cr O
CT_ ™~ (wiz firmizer) + HCI
@ &%- AICI; O
»
| 0<0)
&-cotar HCl
ww- AIC, +
—
&N, +{(O)- N, O) (wrifir fafiesr) / Lot et +HCl
.|.
WHO—-NOI‘ 6ODC v "‘“WH +H 0
M-S0, <O )—No, e+ +H,;
HO — $O.H
e > (O )>—SO.H e +H,0
¢ T3 oSS
| . il : Sl ﬁw Sht il e ".4.1;47,1n'*%“"’""“’-r“}rtr":if"'T i
mw 432 4 s R o L Rl e B ARG | TR " e Y e e A \

e . O~
: CH; + 2NaCl
) - @—Cl + 2Na + CH;3Cl " .

firree @t

SNEEEIGRE =% AlCI
@H:Hﬂm 3 =@—' CH; + HCI
N [ -/




CH,

CH,

Cl, Cl
ET-J"&.ICIJ g + @ +HCI
Cl
CH; CH.’I
CH,Cl CH,
s @’ ¥ @ +HCI
0- TIZFH CH,
p- wildfe
CH;
CH, Cl .
H‘I'-Alﬂlz.tﬂrﬁrﬁ;}h CH, (=¥ ) +HCl
CH, Cli, H,
CH,COCI OCH '
O ’_ : r@’c *(O) +HCl
COCH,
LpLe
CH
CH, CH, CH; NO 3
. 2 NO
iF HO™ = N0, 30°C NO, ftF HO — NO, NO; o ‘
- H;90, @ n o1Tp- H;su¢60°'5’@ ATHONO; +H;0
o NO, 15 H.50, NO,
NO, TNT (Fe-wias)
CH] CH:
H{J—SD!H SO
S0,,em™ JH+ +H,0
N,CI SOl
@ +HCI
e — cH,~< O >~ N, <O (T Feifer ffewam +HC
¢ TNT:
CH, CH; CH;
30°C NO,
ofFfe: 2 +2HO — NO, . + + 2H,0
" "W H2504  qodzd bepa
NO,
ATTAIRET Da
CH, CH, CH, ' c;H;
NO‘Z N = 2 NO
@/ + Gfio2HNO; 0; + 2H,0 o 2HNO; O - H,0
MF H,S04,60°C ‘nﬁql:g%' 4N0
2
s N 2, 4, 6 TR B
A, .=
farer f[fermfo frame:
ONw L
2 NO, Detonation
. Oz Detonatlon ) 4 ¢O(g) +3 Ny (g) +5 Hy ()
+2[0]
NO,

Gt Sedt «ivt A @eiTR: —NHz, —OH, —OR, —R, —X
(< feTCeTa GGt T @FIPTR: —NO,, —CN, —S05H, —COOH




¢ S-SR @ B ATt . xy @ //

u@.’@a&wwwwﬁwmﬁﬁﬁmx 3L X G N0 T& QM Y | IR A ATFSb qaay 13-

X-)
@ v CURITTS —XY @ (@R[ T60Ha S [1@ 709 |
(i) X 93 Sfpe weirgms! > Y 97 oy weirge! 2@ 7@ T 20 o7 A wde s+ ffrs,
(i) X 97 SfoR Woigae < Y 7 offe Weirget 20 Tafe 203 o fftrrerar wrdre cinr fe e

OH
Example: (i}:@ D QR X 2 O (WfHeeW) @R Y T H (QROGTEA) | SHaeT ©fee, drgee! @&, oz
—OH o7 T wedt-+i1at favies )

COOH
Example:(ii):© : QYT X 29 C (F14R) 8 Y 28 0 (SFHeem) | FIEd ©fGe deligee! SIfHa e 9w,
©1% —COOH =& ot fAoi=i=

N=C
Example:(iii):© :X'Q.?TNL‘JH{YEHClmﬁﬁﬁﬂmﬁﬁﬂﬁwﬂﬁﬁ,@i—ﬂ=cw

SedT-orat o |
TrEY, SR I AR Tedio (ot e «ft 375 79| Example iii 0S ©f GRIT T

MCQ
01. fAtsa W QT Sytaas © SifEEits oy ¢ evpfa 322 [CKRUET'21-22]
(a) Benzene (b) Cyclohexane (c) Toluene (d) Chlorobenzene (e) Cycloheptane

AT (¢);
WA SR

02. Which of the following reaction is incorrect? [IUT’21-22]
CH_] CHJ

Access dry AlCl4
(a) +CH;l e » @\ +HI
CH,

NH, S

(b) +Br,(aq) s a@\ +HBr (aq)

Br
H H H
| | H20 |
(¢) H;C — C = 0 + CH3MgBr -» HyC—C — OMgBr— H3C — [|3 — OH + Mg(OH)Br

CH, CHj
MgCl

(d) @ +H—0H - @ +Mg(OH)CI

Solution: (b); —NH, is ortho para indicating group.

) [/ < /) M o o g ..
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03.

2T A1 SIFR A7 Amatol TN RTTRST I97© 21 Amatol (1 GG TAMITTR Srel?

(a) Nitroglycerine and TNT (b) Nitroglycerine and NH4NO; ‘[Ans: ¢][CKRUET’20-21]
- (c) TNT and NH4NO, (d) TNT and HNO, (e) Nitroglycerine and DNT

Which is true for aromatic compound? [TUT°20-21]

(a) C-C bond length 1.34 A (b) C-C bond length 1.53 A

(c) C-C bond length 1.39 A (d) C-C bond length 1.34 A

05.

06.

07.

08.

09.

Solution: (c); Explanation:
@ C — C bond length—0.139 nm; =C—C= C — Cbond length —0.154 nm

=C=C= (- Cbond length—0.134 nm; —C = C— C - C bond length —0.120 nm

Which reaction is not possible? [IUT’19-20]

H,C
~

1 0 H,C-NH N-N=0
H,O HE14+ NaNO-
O Jrreon 88 o Demo 2 ()
H H;C
H,C—-CH, CH, N,Cl
H,S0O., Heat & H]P_GI.HIO_
(c) s (d) @

Solution: (a); Chlorobenzene is a aryl halide. so it is less reactive towards nucleophilic substitution reactions.
Because, lone pair is not available to halogen atom attached to benzene ring, i.e., it remains delocalized in the
ring because its lone pair are involved in resonance with benzene ring. To leaving group, therefore it becomes

difficult to leave its place. Na
Resonance stabilization é +NaoH 18 é
0 Na

C-X bond have partial double bond character. 6Bk

The halogen attached C is sp2 hybridized. o
Instability of phenyl cation.

Possible repulsion between nucleophile and electron rich arencs. @ +HCl—NaCl+ é
Hence chlorobenzene react at drastic conditions,300 atm pressure and 623 K.

frsa @ AIBTS Teeaerie m 2T SITR? [Ans: ¢] [KUET'18-19]
(a) C;H, (b) CzHg (c) CeHg (d) C3Hg (e) Cz2H;
@G TR Tl [KUET'18-19]
(a) 60+ 13w (b) 60 + 6T (c) 60 + 3m (d) 120 + 3m (e) 120 + 61

H
TAILA: (d); Eﬁ;‘ 5 ; 2

H
fp— o, ¢_H—CH, ST P 4TS ST - |Ans: e] [KUET'16-17)

(a) 6 5 p SRRBI @ 6 6 QTG 2=TRGH  (b) 6 16 p TG @ 7 6 RUST TG
(c) 7 5 p wafanre @ 6 6 @ens e (d) 7 6 p S@fRore ¢ 7§ @ree e
(e) 115 e faz @ 1 5 @Ueie G

T e ETEERRE 20 o @R Soi 22 [BUTEX’15-16]
(a) Benzene (b) Benzoic (c) Toluene (d) Benzylalcohol

0
e [ Zn-Hg
IAAYL: (c); @—C-H = b@—CHg

Toluene

_ // e // ST eeT RS e, .




/

10. 5 m cif woRIT o @ wfereife oy «f et 32

DI I =13 WLIT- 03
[CUET’15-16]

(a) Chlorobenzene  (b) Toluene (c) Cyclohexene (d) Benzene |
CH;
T (b); @ ; BRTHE CHy Sere| Sfersio s @ @ ST SHTATEGE 43 27| 33 |
NO3
11. @ +HNO; ——ao08 =@ +H, 0 RfEmitrs HNO,; a3 Sfimr [CUET’15-16]
60°C
(a) Base (b) Catalyst (c) Acid (d) Indicator
HAYIN: (a); H,S04 + HO — NO, — ﬂ':oz + H,0 + HSOj ; 7i2{is affie OH~ &wis T4
HoanR, it gF =T (base) |
12. O TR v Tife 23 beaA [ Serm sme [Ans: b] [BUTEX’14-15]
(a) ETHAGRIZEG  (b) @F&ERES AffG  (c) @wEm (d) TSI
13, o Fea s T @R aB R [Ans: c] [BUTEX’14-15]
(a) —NH, (b) —OH (c) —=COOH (d) —CH,4
14.  Benzine reacts with chlorine in presence of sunlight to produce- [Ans: c] [IUT'14-15]
(a) Chlorobenzene (b) Toulene and HCI gas
(c) Gammaxine (d) Chlorobenzine and water
15. o @Rl shfHbeEeTs Afmm? [BUET’13-14]

(a) ; ; (b) (c) O (d) @

Fe
STI4HA: (d); 3CH = CH—— @
16. fAora &F S0 @@fea (CoHg) ST &ITarey w37 [BUET’13-14]
(a) 221 G0 STATABE ZZGFIE
(b) 3 o rtezRee fwyre
(c) 23 sif g f[farar et azd 3=
(d) 27 R S C4H, Cl, e fonfo fo @t stow a3
AAI4IF: (b) ; Benzene has no isomers.

17. T3pres @it Qi @mit? | [Ans: e] [KUET’13-14]
(a) CeHsCl + MgaX B e Hy — MgCl  (b) CgHsCl + NaOH + HCl - C¢H<OH
(c) CgHg + H;80,22%%C4Hs — HSO; (d) C¢HsOH + PClg = C¢H:Cl
(¢) CHj + CHg CH, C1oRL2miinn 078 HeCH, ~ CH,

18, VB ST SR (TN ©aE FAC A 2SN JIR? [Ans: a] [KUET’13-14]
(a) CeHg (b) C12Hy2 (c) CgHsNH; (d) CgHsCH3 (e) C;,H,4,0H

19,  CTIfEAT @S 3L FIelERad (NaOH. Ca0) fritss Sigeity Ta8 e it tod 27
[Ans: d] [KUET?13-14]

(a) C¢HsCHO (b) C¢HsOH (c) CgHsCH; (d) CgHg (e) C,HsCOOH
20. faree wres [fea Feea @Rt I =2 [Ans: b] [BUTEX’13-14]
(a) Sn/HCI (b) SHI% AlCl; (c) Cone. HNO; (d) Na/HCI

R /-~ /)




24,

25.

26.

27.

[BUET’12-13]

Cl Cl Cl
o
(a) (b) (c) @ (d) Equal amount of B and C
Cl Cl
Br Br Cl

ﬁW‘-’T‘ (b)., — Cl is an ortho- pam indicator.

FeBr, Br
+ Br ——
(Icss)
(nmn&] (Steric hinderence)

5 RRIG CO1-FRTiir 773 9349 @bt @RIER uara ST T AR [Ans: a] [BUET’12-13]
(a) —C¢He (b) —=NO, ) —C=N (d) —CO,H
DRACT 1Y I SIHIFEAN CororAiET (V,0.) BiET 500°C SIANIANTS Siffs Fate & toff 217
(a) ST Wit (b) @EfEw [KUET’12-13]
OYSEEIRICREY (d) e @velie uffie () 22 @A
CH, COOH
AAYEH: (a); @ [0] @ +H,0
AL T IFA ==r==-m - [RUET’12-13]
(a)6 (c) 4 (d) 7 (€) 5
A (e); (D G0t IFA =
Naphthalene
wrATGRER AffmEead Jf (a? [BUTEX’12-13]
(a) G527 (b) *5I2faA (c) @& (d) ©iR fF=ize
e o e = oot O]
@G BT PIEA-TIG T 74 A ? [Ans: d] [BUTEX’12-13]
(a)1.54 A (b)1.34A (c)1.20A (d)1.394
TNT -(S 3 T S Q2GS SITR? [KUET?11-12]
(a) 1.61% (b) 2.17% (c) 1.82% (d) 3.22% (e) 2.81%
CH,
O,N NO;
TR (b); " ql, (CH,)(CH3)(NOL)s . H @s #ffmtet = E = 2.17%
NO,

L) [ <o /[




}y @ // _- ‘ TR R/ 3 WHH-0

28. ©A AlCl, 9¥ Teifdfere fasiize apriztes el be1are1a fRferam  Teom =9 [Ans: c][CUET’11-12]

(a) o — xylene (b) p — xylene

(c) o — xylene and p — xylene (d) None of these
29.  Which functional group is meta directing? [Ans: d] [TUT'11-12]

(a) =NH, (b) —OH (c) —CI (d) —NO;
30. QT 9F M AT @FAHE? [Ans:c][KUET?10-11]

@) rﬁ!— l.il-l b Hzii- CH, HC - CH HC-CH, H;C-CH

a ) | (c d e
H S S S N
31.  fwuon Rferaetst syef [BUET'20-21]
Cl
()©+2N3+CH3C1D—W:—“1E: '+
Cl I CHy |
h
T () (O) +2 Na + CH; €l ———3 + | 2Nac
| T [ |

32. RWIMATE @ Puwit «a Rrwme Jwfea wwy sndey §? Buaie Roeke Rfa® B [BUET'20-21)
HATYI: FFGIRPAEN 8 TNT 97 R «mafen 7o o 2 MG iReiReTs Sret TNT SIS 31 =0 9@l
fRTIfe® = | Detonator SRR et WHitar TNT fRTeies o 1 werafies AR 2y sio © it
SR TSR ne~e W4S {711 FfBd e fRrerae 906 A | @9s, TNT 97 ek aiRGhmEee

(BT 9 519 '@ 1% 38 2|
CH,

: Detonati
TNT @ Re~tae effira: 01”‘@’”01 ————514C0 (g) + 2N, () + 5H, (g)

+2[0]
NO,
33. 33T @TF TNT &@feq FTleadete ) [BUTEX’20-21]
STAIYI: 22 (T TNT 2/5foa AReaeratat e

45u=c + CH;Cl
3HC = CH 25 ; @ +HC
(Ethyne)  Fe dl'.'f (AICI3)

Benzene Toluene

— Ortho 1somerism —I

0
@ml L CIH
3 CH,

| NO,
OH—-NO NO, O,N
@— CH3 H—ri} Fumed HNO;» Dﬂ
2504 30°C >
. H,S,07 100°C

2

NO, TNT

Para 1somerism DNT

b L) /[ - /[




Vi WA

34, TR PO @ e w3 @R bR AfRds T g aemnfe RfFmm Mot erate | [BUET'17-18]
H

37.

38,

39.

40.

CH, COOH COONa
KMnO NaOH NaOH-(CaO
W:ﬁ?ﬁﬂmmﬁm@i?@ —“—;-@ ciaih 2©+NEZC03

[KOH] A
10 (T @ e
CH,

o FeCly
@A (U DR @ +0Hy = 0l :@ +HCI
@A

LT
(a) O ST YT Zn(Hg) 97 R 2Rz (R Tm e R o 2 @ iem tonr
491 919 [ = o9 ¢ [Rie’ (BUET?12-13]

ﬁmﬁﬁﬁmﬁr =y T2 | [RUET’10-11]

(iii)@ +Cl, E;:f a@ +HC
J 90, IS AR TR B, 7993 [BUET’09-10)
TG QAT @RIRTER ToAfBers celte{iZe SItaeiRs ¢ @afena e =1 =3

CH,— CH— CH,

AlCl,
SAYI: C3H,l +@ =54 @

anhyd AlCI
foeea TRRteTIeS g oRe 31 () CeHlg +{ O )—Cl ——— sy [CUET?09-10]
AL CsHg —@+HC[
NI @7 ALF© @ [BUTEX’09-10]
Cl
Cl cl
T4
Cl cl
Cl
frfere arttTe fafermi 7 a2 [CUET?07-08]

COONa

wm:@ +N30Hi© +Na,CO0,
// - // ARASTT ereIe W #Ube...




EYE - -

41, Te RiEFarra $Arge R 39 [RUET07-08)
CHj CHj
CHj
IC]
(a) 2@ +2CH3] ———2 =@ Frorerrminenn, +2HI
20°C
COONa
A
(b) @ +NaOH(Ca0) —............ +Na,C03(Ca0)
COCH,
= e AICI
(c) @ +CH;COCl 2 @ fm—————
Cl
400°C
(d) @ +2NaOH T TR, +NaCl + H,0
150 atm
COOH

CN
0 o) .
ONa
STAYI: (a) cns—@— CH, (b) @ (c) HCl (d) @ (¢) NH;

42. e ¢ afFfoT  ftes AR el Seeze wmiRe o aue Faa? vos [fdmita 7
FAATYH: 20T OfFfos OfFe e i @R toff T9re a1 S @9 @@ fEEe Tt [ @ S

Staiee [P cofd @at w1 purs faferaia wim e @it syiEeEmim ) [BUET?05-06]
3CH3;— COOH + PCl; — CH; — CO — Cl + H3PO;
AlcH CO-CH3
©+ CH, -CO-Cl =%, +HCI
43. THEAGTR AT (i) TR (i) SR [RUET"04-05)
FAIY: (i) (IS BTard JRUGITE 1Y FRIGETS Gl S Zrer S ARG 0|
H NO2 '

conc.H, S0,
@mo—woz — :@ +H,0

(ii) RIS BTEa ZRTGITSA =AY ST Te1a a1 &AfSHIHe 2rer St syisiEtem s 3T
COCHz3

o AlCI,
@ +CH,COCI r@ +HCl

44, SIQ SRR @RRTed TeifEfers @t v @i @R fErE T @ o G siteat T,

g 1 ford | fRfEFaie ordne [BUET’03-04]
AATY[:

COCl

AlCl
(O)>—H+ @ L{O)CO<O)+HCl

b ER / - [/




45.

47.

48.

-3

R

o epdeter Baa wres [RUET?03-04]

e *It RreTta DRt i weiiea a1 Ty
CH, COOH
FAY: @ +[0] :M:: '@ N;:: r@ +Na,C0,(Ca0)
DR @
Wl 8 R SIRWPEHIAE (Wi HNO, @ 5i15 H,S0, =TIt 8% Siefiam Sae T 5t 6 ANSAR
T [CUET?03-04]
NI SOl 8 TR NIRUWGH SR Yufirs HNO, @ 9115 H,S0,, Srarats! 5 oy $ae 390 2, 4, 6-
BIRAIRGTRA tofd 21 |
CHa CH3 CHj; CHaj
@NOJ s HNO, NO2 wpwynvo, NO2 L_NO2
T WFH;SD....ED“E WH;SD4.110“E @
NO2 NO2 NO2
2, 4, 6- BIZAIZRIGYRA
CEIRACE A G I GG RFreeT-2e s ST 03 @ CIB1-TIBae coft 4
T A [BUET?01-02]

T (P EUSICACHI WFe GgRed Sl 8 #{J1a1 SREI 2ETRaT 97y @ A4S | T g
mwamwmmmw

l[i H
H—CH+ —H

*?045 Res @”HO

TR 779 I G2 aTIﬁﬁ;a b ﬁran [BUET*00-01)
CH,

COCH;
AICl3 anhydrous
AAY: CH3_@ + CH;3— COCl —= Y Co:( @ + 2HCI

coc113

ﬁmﬁﬁm ﬁﬁ‘r’ﬂfﬂw
Question Type-07: SR QITE126, SRR U2,

fRefgefrfas afogem fafeat, wermd ffErm iterea

Concept:
WW erafe:
v FTRPTIRY WIS S Ao e A |
GIHE‘[‘{ETF{ CTF h
CH, + Cl, — CH4Cl + HC)
Wﬁﬁ[ AT !l?.r

R—CH=CH, + HBr-» R— CH — CH,4
ZnCl
R — OH + HCl —2 R —Cl+ H,0

LN /| - /




¢

¢

(a7 =i s - = iy A | 5 i LR T '* T .
g TRIRPRT DA ewﬂi*-ﬁ* |
| # i L i i i ' i

@+C2 das @ +HC

Cu,Cl, @ N,
HCI, 100°C

STRCSIRETT =7 (AT (FTTSTTHIR N s %
Rfr) @ ‘ HBir, :00% : e
}1%0“(: @ N,
Sn1 '8 Sy 2 fRfeFats e _
- wERE T oo R (74 T abAl :-ii‘e:py'ﬂr'h"f“ﬁr
ﬁﬁﬁmmﬂ o s,.,z a9 ciﬁlT‘I a mﬁﬁmﬂﬁu
RX- @9 81® | Syl <99 CIeTTH RX W7 S@rrote @ 21 | Sy2 1 TR AFHof a2
3° > 2°> 1° > CH3X| A9 A® CH,X > 1° > 2° > 3°)
Rfam @y | Sy [afewat e o ffea Sy 2 fafera ot o ffarst
faferama Triga Syl 97 AifSa CT AR EARGAE | Sy2 9F sifa o1 ACACR steric factor
wiga A S e aidq e | fafee give 3 ]
Ao eTIara Sl | Sl 9% &0 Syl RifRem = | ot P = Sy 2 CraifeTeT =3 |
GRAEA oFfe CoTETR BIATE Sy1 CAFIE | AT GRS Sy 2 CIifaE |
e eTTRTT o | 13 MOlreTian Syl RalenTa | 373 fefpewizd Sy2 e i
s fmaEe Fw GEEREIGT
ARCET A8

TS ST (I HX SToTIRITER (e G <P o TRy (3 ZIRTICer T, (R P14 (3T H ~fie]

o T FITETE 772 fAite HX el Sepifes 2 s S 1
i R, ST ST (RX) (T HX SoRTae QTeitd 906 T SLFIFS A =TS Srefas) 2t

TeW 20 A | (9.

Y B a B
2CH; — CH; — (EH — CH;4

JIATFAA.
> SCHTSTEay 2E©:

5°C
CH4CH,OH + 41, + 6NaOH — CHl;

ale. KOH | CH; —CH =CH -
A, ("ZHBTJ CHE - CHZ —CH=

B SICHTS Ty

5C

AT

SCRITE Ty

> @IETaN U7 dFSAET
Ca(OCI)Cl + H,0 - Cl, + Ca(OH),; H3C — CH, — OH + Cl; - H3C — CHO + 2HCl
H,C — CHO + 3Cl, — Cl3C — CHO + 3HCI; 2C13C — CHO + ca(nzm)z —» 2CHCl; + (HC00),Ca

E /) -/

CH,[2 — Ae5A (80%)]
CH,[1 — fREftw (20%)]

+ HCOONa + 5Nal + 5H,0

Na=-T30

CH,COONa + 3Nal + 3H,0
N a—29ICee




VR

ermﬁﬂwaﬁf@mmzw%ﬂ%f@mﬁﬁwma
]
2CHCl; + 0,(g) — ZCUCIE(g) + 2HCI(g); HCl + AgNO; —» AgCll + HNO;

(T Sy )
> (IS o @wﬁfm eEfs:
CH, /DH

~
CHCl; + CH; — C — CHy — C (IR
b KOH CH'/ Nea,

>  @IEITaT o 23 Ffe:
2CHCl; + 6Ag = HC = CH + 6AgCl

> @i afegem Rfd: (@i @)
A
CHCl; + HO — NO, —» CClz — NO, + H,0

»  (@FIETa *Hieaad:
NHI N—_-

+CHC, + 3KOH(alc.) — @ +3KCl + 3H,0
Gy

L HIBIGE fmrze
F1fEer i

MCQ

01. Which of the following is true? [Ans: a][TUT’21-22)
(a) The order of reactivity in Sy2 is CH3X > 1° > 2° > 3°
(b) The order of reactivity in E; is CH3X > 1° > 2° > 3°
(c) Strong base favors the E; and Sy2 reactions.
(d) More polar solvent favors Sy1 reaction but less polar solvent E; reaction.

(a) i (b) i (c) iii (d) iv
02. Which is the main pruduct for the following reaction? [TUT’19-20)
/\I,CH ale ROE_ product
H,C 3
(a) H,C /‘\«CHi b) H,C” Xx~CH:  (c)HC /\( () Hc~ N\~ OH

Solution: (b); H;C c” X~ CH;

Using Saytzeff rule, CH3 — CH, — CH — CHj aleKOW ¢H, — CH = CH — CHy+CHs — CH, — CH = CH,
E, (major) (minor)
03. (1N G Sy 1 GTIE Sprad FA? [BUTEX'16-17]
(a) CHy — CH, — Br (b) CHj3 — Br (c) CH; — NH, (d) (CH5)5; — CCI
Y (d); 3° Alkyl Halide Sy1 S 0
04. 1°,2° @32 3° SETHIRA YENRCCH sy 1 ffeFa @ i 77 [Ans: a][KUET’15-16]
(a)3°>2°>1° (b) 1° > 2° > 3° ©2°>1°>3° (d)2°>3°>1° (e)1°>3°>2°
05. (PITAITAN G mﬁmﬁ A R w e 7 [KUET’14-15]
(a) CHCl3 (1) + Og(g) —— 2C0Cl,(g) + 2HCI(g) (b) CHCl, 2858 CcH, + HC)
(©) CHCly; "=, CH, + HCl

(e) CHCI; + 4NaOH(alc) = HCOONa + NaCl + H;0
Zn+HCI

Framdi: (c); @ f&feaa e §9 T’ (b) 1 CHCly —— CH,Cl

_fJJ_ g )




T ) R/

06. TG GIF GRTR GIRTHE (IS SITR? [BUET’13-14]

(a) CCl, (b) CH,Cl, (c) C,Cl, (d) C,Cl4
ATIY: (b); Dipole moment AT Cis TS F&T | adfre, (@A @eetE Cis 319 W= ©ite D. M SR |
C cl
UEI[CR '}3 Cf is a Cis-compound, so it contains D.M. in its structural formula.
H
07. reraE Rferae 2ym Tesjitas 7w 2 [Ans: ¢] [CUET13-14]
(a) C¢Hg — 1 (b) C¢Hs — OH (c) C¢Hs — Cl (d) CgHg — CHO
08. (M “IArHR TR AT TG T4 TA? [CUET’13-14]
(a) Rimer-Timan reaction (b) Friedel-Craft reaction
(c) Libermann test (d) None of thesc
FGI: (d); e SR AR ARG G *IHe 41 9|
09. (I IS % e FewzA et Tz =? [Ans: b] [BUTEX12-13]
(a) CIRGFIAI 2@ (b) SR feem  (c) HiRupreat few  (d) Cohtgiear R
10. 'Which of the following regent will not respond to iodoform test? [Ans: d] [TUT'11-12]
(a) CH;CH,OH (b) CH;CHOHCH; (c) CH;COCH,CH; (d) CH;CH,CH,0H
11. o R of o1 g3 @ @ [BUTEX’20-21]
(H;C)sC — Br + KOH(aq) =7
CHg CHj
| |
oty ofwa [T, HaC — F — Br+ KOH(aq) - H3C— € - OH + KBr(aq)
CH,
fafermife =@ KOH @ 3°WW aifegrem fafdrar
Sy 1 fafeFam cor=te:

RifeFlf & 4iTet 951 Y 4ol 3° SEAILe Ylelide %WWWW@S“WW@
AT SHT HfE I | AT RX 7 RIS ¢oiera Qe #if (H,0) Se@ itd HO~ S #HfR careraite
ﬁﬁwquﬁﬁwmn 7 4itet EfPe®ize HO™ WA & FICHIT S &S *ifers & =W

CHa CHjs
CHS—\-\CEi ;mj*—i_ﬁéCHJ—C"#Br
CH] CHJ
S I vrafmifa Reoida 30 PA AT S
QIRE
CH; CH;
CH3-3C++ ) -H i CHJ;C—{J—H
Q:ﬂ HTPI: CH] CI"I].
3° PN SRA Brfmfa REoR
SIFECP=A
12. fesa G FAIGHACER S GG RIS A Ol 93 [BUET’11-12]
Chloroform

MY FIEEIN Fareaads Fi&e smfm [
IR @ ST KOH B9t e Sy Rt 60° — 70°C St $ee 3t Bat S5y e
ST 2SI |

60°—70°C
{O)—NH, + CHCl, + 3KOH(alc) »{O)—N = C + 3KCl + 3H,0
(bed smell)

R ) - /




T ) ®

13. e, Fer Feier ciot o=y vl e [BUTEX’08-09]

14.

FTAYI: RROGTIAOTR YA TSP MYLRA VIR Teel- Gies ferera Freaife cnet 2

SN (ICF @I Wore 7yvs R[idFarmgz &) [CUET’05-06]
Y Ca(OCl) Cl + H,0 — Ca(OH), + Cl,

CH; - CO —CH3 + SCIZ — C13C—CU—CI-13 + 3HCI

Cl;C—CO-CH3 + Ca(OH), =CHCl, + (CH,C00),Ca
CAFTTNTTR

Snndmeyerﬁfmw A O-Toluidine It fFSI@ O-Chlorotoluene 4T a1 247 fAfeFmioa ﬂ%ﬁfjm‘i ]I
[BUE

CHa CHj CH3

@NH! HCINaNO, @NZCI HCI,Cu,Cl; @/Cl_l_ﬂ
' (0-59C 100°C -

Concept:
WIERIREA SEfe:
RERIERIREN | AP it T M o8 00y i g

() RXQaey RO | R — X + NaOH(aq) — R — OH + NaX

LiAIH
R— CHD+2[H]—=R CH,OH

R,CO + 2[H] ——3 R,CHOH (2° SIIIFL=h1eT)

(ii) fq@me® LiAlH, 99 R — COOH + 4[H] i 5 O CH,O0H + H,0
IR R — COOR' + 4[H] =3 RCH,OH + R'OH

| R — COX + 4[H] "= R — CH,0H + HX

AlH
(R — C0),0 + 8[H] HAT 2R — CH,OH + H,0

0 OMgX DH
i | H,0
H-C-H+R" - MgX' > H- C—H —‘;H !li H
R
R — CH, — OH + MgX(OH)

1° SITHCRTE
0 OMgX OH

|
(iii) TEIAIC e A R-—C-H+R'—ng+—:R—r|: = L R-C—H + MgX(OH)
R

R

2 T
0 OMgX OH
I I Hﬂ *
R—C-R+R“—MgX+—+R—-? (f R + MgX(OH)
R R

3° ST CITEE

80°C
(a) CHZ = CH; + H2504(""n'5) _" CHE — CHZ — 0803H
CHs — CH, — 0SO;H + H,0 L CHy — CH,0H + H,SO,

(iv) S A (b) R — CH = CH, + H,S0, (°I5) —— R — CH — CHy
ALATE AS 050, H
R— CH - CHs + Hj0 i R— CH — CHy + H,50,
0S03H OH
(2° SI[ETCITEE)

R — COOR’ + KOH — R — COOK + R'OH (ST

(v) @5 oy v o
QT CH3COOCH,CH3 + KOH — CH3COOK + CH;CH,OH (3%1)

L/ | o /)




¢ IR a3 e Besiiv:
SHIBIR I (ATF CH40H F04Fe: C(s) + H,0(g) =23 [CO(p) + H,(g)]

0.C ‘D’I‘-’T
Zn0.Cr,0
[Cogﬁg?m; $(g)] + Hy(g) oy CH3OH(D) (99% fRww)

¢ e 97 Fies) Teoiwe:

T e
Z(Cﬁl:ltji.gDE)n“l'“HEU ?ﬂ nclEHZZDII

WD e Te b
C12H32053 + H0 —— 2C6H;50652C6H1206 — 2 4C2Hs — OH +4C0,

20°C e
& ng | | |
mm et | e Sl D ] Dol e T 0 L_ﬁ’I ﬁﬁFﬂr J‘,ml:p_':""f-';:'.':"l;:1--34“"‘ ﬂ“‘ir-"*;;ifr 5“3%5“1’_.4:'}‘.
(i) —OH T« [[ere™ e 2H;C — HZC OH + 2Na = 2CH; — cH2 — ONa + H,
(H —eifSg7m) e ROH + RCOOH - RCOOR + H,0
(ii) CO 37 fRorEm e ROH + HX — RX + H,0
(—OH &ifSg*) e 3 ROH + PCl; - 3 RCl + H3PO;
. 300°C
* CHg - CHE — OH e ? CH3 — CHO + Hz
(iii) 3G Ryl o8
300°C
° CHg P CH CH;; ———'* CH3 - CD CH3 -+ HZ
OH Kgﬂl‘gﬂr )
(iv) &t (C — H 999 * HyC— CHz — OH + 0] H,50,4
100°C
e CH; — CH,.OH + H,S0, )
CH3CH,.HSO, + H,0
165°C
(V)ﬁa;ﬁ L EHECHz.HSO.;l. » Hzc = CHZ + H2504
e CH, — CH,.OH + H,S0, = CH3CH,. HSO4 + H,0
° CHg—CHZ HSU4+H U-CHZ_CH_; — CH3 —CHz'—'D'—CHz—
CH; + H,S0,
¢ SIS APl [t
A —
4S9 Na 37 I 2R — 0 —H(l) + 2Na(s) » 2R—DNa(s) + [H;(@)] (")
CTITETT SHTEATAIRG
A
PCl; 7% “(r R — OH(I) + PCls(I) = R — CI(1) + POCI5(!) + [HCI(g)}; HCI(g) + NH3(g) —

NH,CI(s) (3TWT 4

= . OH .
1 . COOH COOCH
1% H,S0, 3

(s) + CH;OH() > () + H,0()

sfeRTERR 9fTe farerFeT RreriaeT STPRIRETS
(Iﬂdex)
AT *AGEFAL: CH3CH,0H(1) + 41,(aq) + 6NaOH(aq) — CHII% (s) + HCOONa(aq)
( : + 5Nal(aq) + 5H,0(1)

o [ - /)




T Y

o QIR (1°), CteifR (2°), SrRBmiIfA (3°) SHITNFIRETR R (T Reeraaog )

SITEICIRET T R s Riw Rl
BIPTHIN (3°) | (CHy), C— OH(D) + HCI() 2;15'5 (CH4)+C — Cl(s) 4 + H20(0) SIRTIFOIE A
(3% STSCFA (7 |
CTEFSI (2°) | (CH,), CH — OH(l) + HCI() —3 (CH3),CH — Ci(s) 4 +H,0() | 3-10 fafe == =
(2°) 2 YT (A |
SR (1) | CH,LCH, — OH(I) + HCI() —=3 CH4CH, — CI(s) + H,0()) Tge Tl A A
(1%) bl AW YT (A |
¢ WIECFIRCES S
(a) CHy—CH,, — OH + [0] %% CH, — CHO —5 CH, — COOH [T eI wFaite, QT )
1 Fﬁ!ﬂw Il:ll
(b) CHs — CH — CH, + [O] % CH, — C — CHy ~5 CHyCOOH + €O, + H,0
2° TR 29Uy
[1 6 =~ ZT CIEwg]
CH3 CH3 "
I - | . I 0
(c)CH; — C — OH — CH; — C +4[0] % CH; — C — CHj + CO, + H,0 ) CH,COOH + CO, + Hz0
.t CHa CH2
(2 6 =147 2/ g coitaeg]
¢ WM
» BT YR oEfe:
ST
Q) 3 3ol R—ONa+X—R—>R—-0—-R+ NaX
) A
S LR Eﬂ-@qg Csz — DNH(H]C) + |- CHg(HIE) - Czl‘ls -0- CHS(E) -+ NEI(S)

cTfSa Idrwize  See! s ﬁr@‘mﬂ

CH, — CH, — OH + H,50; (*1F) ——— CH; — CH, — O — CH; — CHj + H,0
(ii) STIFTCPIRET AT (1° 3R 2° SHIFCHIRE (ATF 2T (ST T4 MY | 3° SECPIE LTS S
cofe 1)

(iii) 27171 Rle® (At | R — MgX + YIETSEDS 23 — Thod 32

EIERIRE 8 U “idFrFact: (PCl; i)

R — OH + PCls = R — Cl + HCl 4+ POCl,

HCl + NH; = NH,Cl (ST ¢4T)

R— 0 — R+ PClg = 2R — Cl + POCl, |

HCI ¢tofs =1 At W i

MCQ

01. TWIFEM *FiE F41 & [Aea @9 RSt a7 T4 32 [CKRUET'21-22]

(a) Grignard Reagent (b) Lucas Reagent  (c) Tollen’s Reagent (d) Neslar Reagent (e) Acid-base Reagent

02. ftea @G 1°,2° @3 3° WETHZE *FAGEFA TIZ© 7 [Ans: a][BUTEX’13-14, CKRUET’20-21]
(a) ZnCl, + HCI (b) Zn + HCI (c) HNO4 (d) HNO, (e) KMnO,

LR/ /- [




// @ // _ SPTRIS J 7A: GIRI-0

TN HYSTF AT TRt 757 [Ans: c][BUTEX'16-17)
(a) =itfArs e Tt (b) ez FifEs e
(c) QTETTIRTE S 9t (d) None

04. o &R0 JEERY [Ans: ¢] [RUET’14-15)
(2) Ca-salt of long-chain fatty acid (b) Mg-salt of palmitic acid
(c) Na/K salt of long-chain fatty acid (d) Al-salt of stearic acid (¢) None

05. A four-carbon alcohol was oxidized with acidified potassium dichromate to form ketone. Which structure does
represent the original alcohol? [Ans: d] [TUT'14-15)
(a) CH3CH,CH,0H (b) H,C = CHCH,CH,0H
(c¢) CH3C(CH;)OHCH; (d) CH; CH, CH(OH)CHj3

06. The most suitable method of converting ethanol into iodoethane would be to- [Ans: c] [TUT'14-15)

(a) Reflux iodine and ethanol

(b) Allow ethanol and KI to react in presence of dilute acid
(c) Reflux red phosphorus, ethanol and iodine

(d) React ethanol with copper (1) iodide in the cold.

07. Ao i Fafoa BeAmE eifgfes s Sisrre e T9ge 7 [BUET’13-14]
(a) CH;0H (b) C;,HE (c) HCHO (d) CH;COOH
ANYH: (a) ; 2CH4 + 0, 100 ‘J“CHBOH Again, 2CH, + 0, 190a 0
But, option @ CH3OH SI1tst fRw5si«1 So, (a) ans. F912 better.

08. GE=OTFRT ™IfE0 @FFH? [Ans: b] [RUET’13-14]
(a) 90% ethanol and 10% water (b) 95.6% ethanol and 4.4% water
(c) 70% ethanol and 30% water (d) 98% ethanol and 2% water (e) None

09. (M NG YLIES TR e a2 [Ans: ¢] [CUET’13-14]
(a) Diastase (b) Maltase (c) Zymase (d) None of these

10. faswre fafeen o ﬂwmwtﬁawma@ﬁ?wwaﬂwm [Ans: b] [BUET’12-13]
(a) CH3MgBr (b) HCHO (©)RCHO d) " C=0

R:
11. fAoE @it SoEteze 8 @ WYy 2ida Fa0a? [Ans: ¢][BUTEX’12-13]

(a) 9116 H,S0, (b) ETR &5 )T fRFEE (d) o [ReEs
12. B FEATE SRR ooy i et M e T [Fom evm =) Fees @R agest i

SyETPIEe Hoae Sa? [BUET’11-12]
(a) CH;CH,CH,CH,0H (b) H,C = CHCH,CH,OH
(¢) CH;C(CH3)(OH)CH, (d) CH;CH,CH(OH)CH,
FAYE: (d); 2° STETPRE +[0] - [FEH ; 3° SR +[0] - SiEfew
13. CH;O0H -93 IR (FF SRS 370 7 [Ans: ¢] [BUET’11-12]
(a) Pt (b) V,0c (¢) ZnO + Cr,03  (d) ZnCl, + Ca0
14, @Afem e ceifam ot fRferat aiar e fim Sem aea? [Ans: b] [BUET’11-12]
(a) Feifere fifermr  (b) fErree wies RfEFTT (o) wirsaw R[fdat  (d) aRwe-5ians faferm
15. feea e wiee? (KUET’11-12]
OH
OH OH OH ot OH
@ @ ®) doI ©) %D] @ @r © @
OH OH
H
Quinol Hydroxyquinon Catechol Pyrogallol Resorcinol

FATYI: (e); a - Catechol,b — Pyrogallol, ¢ = Quinol, d = Hydroxyquinon, e = Resorcinol

R [ - )




EEETT )

SR @ OIREEN a oy @Fb? [Ans: a] [RUET*11-12]
@)3°>2°>1° (1)2°>3°>1° (c)1°>2°>3° (d)1°>3°>2° (c) None
17.  Which of the following product is formed when cthanol is oxidized by a strong oxidizing agent?
[Ans: b] [TUT'11-12]

(a) CH;CHO (b) CH;COOH (c) CH3CH,00CCH, (d) CH,CH4

18, CTIRS O I TR T I~ stemt wat 2w Beoiifis e s <o - [Ans: c] [BUET’10-11]
(2) CF1H ST (b) ACCHR G (c) SHBR T (d) farear= sy
A C(s) + H,0(g) — CO(g) + Ha(g)

19. T TS - [Ans: a] [RUET’10-11]
(a) conc. HCl + Anhydrous ZnCl, (b) dil . HCI 4 ZnCl, (c) conc.HNO; + ZnCl;
(d) conc.H,SO4 + Anhydrous ZnCl, (e) None of the above

20. SECIRE NS FA@ G Heva @ otasi aega a1 @7 [Ans: ¢] [CUET’10-11]

@ EN Reme )R Rers  (o)F@rifAsEE (d) None of these

2. TR N SHERIRE @ 59 7 3% FeiR Sy |t Iy [RUET 11-12]
AR SR FagifereTs Sae It Afemrasad afewty 61, QoEe T Sed $are 31 [ReeRd 9o A& |
T JIFOEANCS [TEEFAR TG 8 0 7, 9L TG 303 | GF T FIFOAA (PrEaeT Sio 4TS GF

@
|
22, fArea RS 7=y 3: CH4CH,O0H(D) + HCI() :‘;: - [RUET*11-12)
Z
FAMY: CH3 CH,OH + HC) H“m » CH; — CH, — Cl + H,0 (Sifs® fafiwmm)
23, fo01eT (A fFsim 2 it ot f[ifeaa S @rdne | [RUET’11-12]

ZAenoE
ANYI: Cj_szzOn + Hzo ’ CE HIEDE * CEHIEGﬁ
30°C yrTe e

TR
2CgH 1,04 ~oig " 4CH5;CH,0H + 4CO,

24, fopm@ SRIfe 12 [BUTEX’10-11]
TAY: - SC SCANEA , 7 SIS BRI SCAreRe, - wiew ERbeRs S ward «if cm @ g
wrred | Ao 9 Zre o o S I 91 %S 8 #i54 A R 9age 2.

25. < 9B, ARG TaIFaed Ay &, 939- [BUET?09-10]

CHCI, 97 T{fgfere @atea A NaOH Rt war =
OH

CHO
CHCI
AATYIS: @—DH + NaOH — H,0 + @r +NaCl

ety |
26. T2 @ ZAFER AR Afaes e Far o AieadeTz B [CUET’ 05-06,09-10]
YL fmE — s

KCN
CHaOH —— CH Cl ———> CH3CN ——>

HNO,
CH3CH,NHz ————

22E — frmere
(0] NHj NaOH
CH;CH, — OH -——r CH,COOH = » CH3CONH, » CH3NH,

HNO, |

[ ]
LIATH,

Il(“ﬂgCPhﬂJH'+]ﬂz'FI1ﬂ0

CH3 CHZ =z NHZ

CH30H + N, + H,0 ¢

O | - ) AT




REIRRIERE RIS, . / @ / b DA I @ -0

27, *NSTE SR, @O PG 8 RTTEE PifHE a7 et e [CUET?’ 09-10]
STRIKI: ANSAR SIFCFIRE: AP AN CAGE, @fem, 209 egfs *mid fff e anba shikrs gy
FRET 3g® T | I B AT O 4% T 0 GTF AN SITETIRE 0T |
ESOTFRE if¥0: 95 — 95.6% I @ 4.4-5%%%%@@@%@5%@%.
CIRTETES FHfRG: BRTHLe SIS SHATSRETTS o/t STy S &) ©iF 3T 5 — 10% frie, Pififey
8 3% (IS I T4 - 1 Gt 05T RITETeS PG | st #itas seicat e fiffe aebwze it
IRETe® =6 e

28,  SNE AIRAITS SR FRiTewiie s | [BUTEX09-10]

(a WAL
20°-25°C

G TIRG D
2195.6% T + 4.4% +AH mﬁw@r

515 T Ao SUFE BT 2)zhe
29. T SNl (=~ 140°C) @ 3 Siem@y (0°C) v FefToefe affmes st 3w Fan 9 w2 &iEae
AT NG | O Sroiar fafeFn o Jefrefe affie feeite sietazst ot S 41 [ BUET?08-09)

0
Fq4«: CH3CH,0H + H,S504(Conc.) » No Reaction

CH4CH,OH + H,S0,(Conc.) ——s cH3 ~CH, =0 — CH; — CHy 4 H30
T 1% Rt RdR

00°C

T 8 CHaCH,OH + Hy S04 — s CH5 CH, 0 — SO H + H,0

140°C
CH3CH, — 0SO3H + CH;CH,0H —— CH;3CH, — O — CH,CH; + H,S0,
30. frafafRe e Rttt s=d =3 [CUET’07-08]

100°C
S4H: C,H — OH + H,S0, » C,H<080;H + H,0

CZHE —g 0 — 5031'] ]iu: Cqu, + H2504.

CHy — CH - CHEFCHS—L": CH; + H,.

nH 0

31, SHIBE-ATRT F? GHBR HAFT (ACF e cofea I siead fae [RUET’05-06]
Yt SFBIR-510T = [CO + Hy] = [CO + H,] + H, 3;‘:2:;;‘;; — CH,OH

32, CBIE (AT YIS 8 P& (A0 e fFeim tofd Tl 2, wiflleactg fere? [RUET’05-06]
STAYH: 275 (A WITEHE 8 SRS AN 6 qAEIZH [He97S 20 | MIEAG GG NCEHIETP YLPIer IR TR
G2 YTIECF 22 @ CO, T iffels Fa

EnGla | GRS
C12H22041 + HzoﬁzcﬁHuﬂﬁ o »4C0, + 4C,H;OH

N | - /




e

34.

35.

36.

37.

38.

39.

eT=tieeime | [BUTEX’05-06]
. Znﬂ,l‘.‘ r;0,
FAT: [CO(g) + Ha(g)] + Ha(g) - ——— CH;0H
CHIBER)IE e
QT ST . : g e —
fafera ey, Mo s B
[Cofg)"}'Hz(E)] (cﬂﬁs:te::}re) S =3 5 Unc ﬁ'ﬂ'l‘l'T'IT"‘f‘_ LT o ﬁ;qﬂ;ﬁl ?;J::ﬁ
TREES o T =Zn0 | ewfrmfe | [CO(g) + 0
H,(g) P =20 atm Cr,0; |mfer | “Hy(g)] Rew
P I ]
wrifiafee e e

SuBTR P @ H, pr ot fireeer Sestmta sarefba
CoNPITZET STETURIZET (B STATHIE) (F Rroita SiREielleliZa SHATHIET (GGl Syieeize) 9@ ffiefio

FAR? YIAQTET (TS | [BUET’04-05]
H2504 HBr KOH(aq)
FHYN: CH3 CH,CH,O0H —— CH3CH = CH; — CH3CHBrCH; » CHy — CH — CHj + KBr
OH
fRRP1: CH3CH,CH,0H —— C
F gL N H3—C|H-CH3
OH
(a) B2 FEPR WGFRCTE FY AT [Ans: i] [BUET’04-05]

FAYE: (i) TRAES (i) @i (iii) TICIFo*H (iv) “AfErEsad
(b) Foa SHIECIZE TCR (@I ARTA, @HT Era sl 8 Wb SRR, of 7+e o |

CH,4
.+ H3C . | iRei | vte
(i) HHCJ,CH—OH (ii) CH;—CE —OH  (iii) CH; —CHz— OH
3
Gicaeiar GrafEmst TR
4319 f7de Ethers [RUET’04-05]

TS Feels e, 54, CreEen, @513 27ina iRawe 2R 535S |
faferara Trqrcete ST Rfdw, fiie R aefers ureaeants s 99 9 = |
2 BT @ 29 95 = |

3fam AT
T s ait el TRIREE AT MRS AR T4l & TS mE @141 [CUET?03-04)
wHg j
R — CH,0H + s HCI 22 wryarEel R A, e Bae e o |
[1° STIETPIRE]
R

? o1 ZnCl, | .
R — CH — OH + 7 HCI »R—CH—Cll +H,0 [5 — 10min *1q Wl SYTHF]
[2° SETHIEE]

R

|
R—C— OH + v HCl e Znch » R;C — Cl 1 +H,0 [ @© AW SIYTF |
EIGICES]
R ferar i [CUET’03-04]

T T STFTAIRT @ SEFiRe ZEiRred Rt v 2 Seon T R ke Rie e
R—[X+ Na|]— OR = R—0—R+ NaX

fAtea @™ RE? (Ans: iii) [BUET’02-03]
(i) Ca-salt of long-chain fatty acid (1) Mg-salt of palmitic acid
(iii) Na/K salt of long-chain fatty acid (1iv) Al salt of stearic acid

VARaW 4




<A R @& G- 0

@ Concept: |
¢  WIAMGRRGH Ay &gfe: |

. NazCrzD; + 4H2504 - Nazsm 7 Crg(SO.,)g +4H 0+3 [0]
TR SR 3R — CH,OH + 3 [0] = 3R — CHO + 3H;0
Cc c
FRTHICEH oA R—CH,OH — R—CHO + Hy; Ar— CHOH — Ar—CHO +H,
OH
B H B0°C
WW R—CECH']'HE : EEG*R [IJH—CHE—"R-!:!-—CH3
20% H;504
o i
R—-CH=CH-R +0; » R—CH—O0—CH —R’
ZnH,0
—23 R = CHO + R’ = CHO + (H;0; + Zn)/Zn0 + H,0
o™
e witces SRR Fad
(R — C0O0), Ca + (H — C00), Ca = 2R — CHO + 2CaCO03.
PO A [ 1 kB B |
SR EACNG(CA G ERERR

K,Cr,0, + 4H,504 = K,50, + Cry(S04); + 4H,0 + 3[0]
3R — CH(OH) — R’ + 3 [0] = 3R — CO — R’ + 3H,0
o TG 8 Syese [t kT

g @Tﬁmﬁw ]
-2 2GS e
sEteET Tl
HCHO @2 ¥ata e =i RCHO ¥ at=13 fAfem ot
15 NaOH (RfeFar <) ] 7Y NaOH (2/®[3)
H — CHO + H — CHO ————3 CH, —OH + H—COONa P
oo Qt M0 Zoid Mg 2CH,CHO ——— CH, — CH— CH, — CHO
(2D (fonfreBeny) (SIS TIN) wrgm  20-30°C o

¢ FHEF T HAGFFA:
2,4 Eﬁmﬁiﬁﬂm“lﬁﬂ (2,4 — DNP): @mw Brady’s reagent)

NO, NO,

R R
N N

R/MH R/H
FiNe Gy 2, 4 G 2, 4 GIRAIZE! 1 2RGE
firaraer ZRg e (RA-<F=T)
s SR (—CHO) ToF FGTat / SRS @ FFUITaa Mg AdFrFac:
» Ol [
AgNO;(aq) + NaOH(aq) — AgOH(s) + NaNO3(aq)
AgOH(s) + 2NH,OH(aq) - [Ag (NH3)2]*OH™(aq) + 2H,0(l)

R — CHO(I) + 2[Ag(NH53),]OH(aq) ———2 2Ag(s) f}f RCOONH, (aq) + 3NH3(g) + H;0(1)
[EESEL

o /| - [/




Vi A

CFE B¢
CuSO,4 + 2N C,H40% = K,[Cu(C4H,0 aq) + 2NaOH(aq)
4 aOH - Na,S0, + Cu(OH),, Cu(OH);, + 2NaKC4H,0%™ = 2&_:[5 aHy ra%%%]én q)

CH3CHO(l) + (/3R %Relf¥®)2Cu(0H), (aq) + NaOH(aq) 2, CH,COONA(aq) + c:m;gg) | +3H20(1)

0l.

02.

05.

06.

07.

08.

09.

10.

1.

Atea @AM 1°,2° W2 3° WEATRTEE ANGFAE TGS 24? [Ans: a][BUTEX’13-14, CKRUET’20-21]
(a) ZnCl; + HCI (b) Zn + HCI (c) HNO3 (d) HNO, () KMnO,

What type of the reaction of the following? H — CHO + NaOH = CH3OH + HCOONa  [Ams: c][IUT"20-21]
(a) Hexamin reaction (b) Grignard reaction  (c) Cannizzaro reaction (d) None of these
Polymerization reaction is not possible from which of the followings?

OH NH, CH, CH=CH,
& LB

Solution: (¢); As phenol and aniline has got lone pair clectrons in O and N respectively. They can undergo
oxidative polymerization. But toluene cannot.

[IUT’19-20]

Ao @Rl SnEee yatew faferam woteed Fa? [KUET'17-18]
(a) HCHO (b) C¢HgCHO (¢) (CH3)sCCHO  (d) CH3CHO (e) Cl;CCHO
FAAIYI: (d); CH3CHO) AfTS a - 14t H fmyaii=
Fter Qe e faeime ot [fdan @W s s Sesmg @ [Ans: b] [BUTEX'16-17)
(a) SEfEZZE (b) STETHIZE (C) ST (d) s afie
CeHsCHO S9TS o-ZI2TGITSH G A4y FA0? [BUTEX’15-16]
(a) 5 (b) 2 (c) 0 (d) 1
g

FA: (C); CeHsCHO - 1§ . G

HC_% fCH

CH
o FEE H @2

o comiba s i et w3 celtaiie fom it ot Iia? [BUET’13-14]
(a) Br, in water (b) PCl;
(¢) Iz(aq) + NaOHaq) (d) 2, 4-Dinitrophenyl hydrazine

FAM4H: (c) ; CHz — CO — CH3 has CH3CO —part. It shows iodoform reactions.
CH,CH,CHO has no CH3CO —part. So, it doesn’t show iodoform reaction.

o @G e e wae Sy Q2 [Ans: d] [RUET?13-14]
(a) CH;CHO + NH,0H (b) CH;COCH3 4+ NH, (c) HCHO 4 NH4

(d) C¢Hs — CHO + CH3NH; (e) None

farea &R Qe cpgfEre B oot R e e SiysvHe (2 [RUET’12-13]
(a) RCH,X (b) RCOOH (c) RCH,OH (d) RCH,CHO (€) None

AAIY: (d); RCH,CHO 7 —CHO T& Q7 (gfere water 1o fferat <ea

S B AR WY (A TEwiferm? [Ans: ¢][BUTEX’12-13]
(a)10%CH3CO0H  (b)20%CH;0H (c)40%H — CHO  (d)12%C,H<OH

R @ Eeg 5364t FaiEm? [CUET’11-12]
(a) 30 — 40% (b) 20 — 30% (c) 50 — 60% (d) None of these

HAYI: (d); AT 30 — 40% TEld TIUF Fauifere 0o | &0 o =g f2iiwer | ofF #f5s $ea D

LN/ [/ o [
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12,

13,

14,

15.

16.

I TR B2 Rfdry Seem z? [Ans: a] [CUET 11-12]

OH OOCR

OH
(a) @/ CHO (b) @ COUH (c) @ (d) None of these

Which of the following compound forms red precipitate when treated with Fehling’s solution?
[Ans: c] [IUT'11-12)

(a) CH3CHO (b) CH;COOH (c) CH;CH,00CCH;  (d) CH3CH,
U5 D e Rfdrm Beeim 2 73 2 oy bt mRRRs cifta 3geared e Rirn w7
0O

(a) CH3CHOH — CH, — CHO (b) CH, —'ILIZ—C-GH_,, [BUET’10-11]

() CH;-ﬁ—CHE—CH,DH (d) CH3CH(OH) — CH, — CH,0H

H — CHO + NaOH = CH;0H + HCOONa % yata f&feFam [Ans: ¢] [CUET"10-11]
(2) IR Rfewr  (b) f&smee Rz (c) Tifveitst faf@sat  (d) None of these

fATea it A Brer fRstatsss 1ite Sysrsel toft e #(ia? [Ans: b] [CUET*10-11]
(a) CH;CHO (b) CH;COOH (c) CH3CH,00CCH;  (d) CH3CH;

Written
17 comm R *Aiea oz et for o Rame cater o toa cit aame Attt =1 CH, CH,O0H, HCHO @

18.

) /- /

CH3COCH; | w4 b fea i «iaret w1 et ditst o imier e fafdmmietet it | [BUET'18-19]
JYE: (i) DNPH 30t:
CH3CH,0H —— (i1t faferat 2a 71f) (surenaize)

NO, L NO,
HCHO + H,N —NH—@-NGZ—- }c = N-NH NO,! +H,0
H Ll
NO, il NO,
CH3COCH; + H,N ~ NH-—@—NOE ) }c = N—NH—@—NOZJ- +H,0
H5C Ay
(ii) OTe R o <ret:
HCHO + 2[Ag(NH;),]* + 30H™ —— 2Ag | +HCOO™ + 4NH; + 2H,0 (S0=fE23w)
CH;COCH, » (e ffeFr 7@ =1 ((Fim)
frcea fRfeFafo s/ == [BUET’11-12, 06-07]
d) CHyCH,Br —sether
( =2 (i)HCHO
. Ether
HATYIS: (l) CHHCHEBT T Mg » CH3CH, — Mg — Br

H
|

(11) CHg—CHZMg—-Br+H—(|I=0—}H3C—CH2—$—D—Mg-—Br
H

H
CH; H
H,0 | |
— CH, — (l: — OH + Mg (OH)Br
H




<PTTRI QY P JIHI=RI-0=

[BUET’11-12]
20. TENIEA 2 EHRE Gieom sifees m%m%“:-'m |BUET’10-11]
T TN AT 30 — 40% sy w71¢t |
27
N N
KCH, C‘I{,//
\H,-’
XH, II:H' CH,
W I 5
21. U SRS, @ITSEe Rwre, crsfeie mae) [RUET*10-11]

STTYI: BT {8 TIRISH 10%AgNO; @32 10%Na0H T34 Rifiis Tt w4t #/TG It wfefie NH,OH

;}xgﬁ’mu ST et s et 7iRE0e @ 3939 g3 Srem fEs 01 Wte [Ag(NH,),)t S
!

TS faErcts “51erfeatT & Baso, 97 B=if#fers wioi3e @iai3w 3t Alcohol H, T Frfiesy fRefie

A TG Teoff I | W2 Remelts cremrs Ramse 9T

C;GE‘:E‘I‘EWW'B NaOH fiffe @rifean «Bifmtn BrRoet 3t cifofr seda sastren gavda frri
2 89 qCE |

22. =g eI YRUGAIRCEA ToifEfors 12wy wibmibade s im s Rferar s [RUET?09-10}
H H

dil NaOH |
STYIT: CH, — - = 0+ H = CHy — CHO =———tCHy =  —CH; = CHO
C 20°=30°C |

OH
3- RGO 1o 36 |
23, illaAepTg ferd e geas
FEARTAN FTATADA ToAEfSre ey de aa Sty @i stamt st | [RUET?08-09]

SMIY1: CH3CHO + Cl, = CCl;CHO -

24, R AT FIFHF AbiE (- TG c@mET afic) tsf ﬁﬁmnﬁwg}{m 4@ I[BUET?07-08
OH

0 + |
STATT: CH, — CHO + HCN—<20C, ch, - C—oN B0, oy Gl - cOOH +NH,
(I «fFe)
A
25. (CH;C00),Ca— [BUTEX’07-08]
A (CHECDO)ECE_} CH3 —CO - CH3 + CECDg
26. g 2R 8 [BUTEX’07-08]

() CEleTe T34 0TS TIZS e | (X) SIS PSR ARG TR ...vo..... RS 300
FAATYI: (F) S FAECFCHA Tl T3 8 ETHGAT *BIfFrmT BRomEs &3 () 5o

27, FETEa BoHfore @itarEaw a3z e R Fe- [KUET*04-05]
HaC oy ¢ OH
YH: }c=o+cuc13ﬂ-—} \c!
20-30°C
H5C H;C CClg

28, Bre Rtarea A e o m) AT GHib e Bf | [BUET’03-04]
TR YCFICET SN T FT (BT BT [P e} et bre Rt Rnifare 2o (68 fbtam iy 4res
e weld wig | )

CH,OH (CHOH),CHO + 2[Ag(NH3),]OH — 2Ag(!) + CH,OH(CHOH),COONH, + 3NH; + Hz0
o R e weidl

pleai
W93, Y @ faErE B

B / - / S ST RS .




WA WA oo

29. wﬁﬁm‘wmww.wmwaﬁﬁmwﬁﬁmmwﬁﬁﬁ

SIATSIRE e FA0? [CUET’03-04]
SN CHal + Mng'v CHyMgl
0 C;Mgl
|
CH,Mgl+CH,-CH - CH,- CH
Hj
H,0/H*
CH; — CH — OMg — 1 —— CH; — CH - OH + Mg(OH)I
CH, CH,
30. WIECaS vud - [BUTEX’03-04]
dilHCI
HAEH: H3;C - CH - CH, - CHO » CH; — CH = CH - CHO + H,0
EI!H A e 140z 1 MIET
31, T G_0 @OEieRa0ed At A Saea siadt [ ¢rdne [BUET’02-03]
CHO COOH

FTA: [0]+@ b P @ (KMnO, + OH- — K,Mn0O, + H,0 + [O])

HDH'

(SRR @R afe
32. ¥ AU C3H, AT A @ B 4B @it a0 @t A G@ifia i we Ridrs s «3fo 367 Seom Besy

F, %mammmwmﬂéﬂaﬁa‘?ﬁ?ﬂ [BUET" 02-03]
H
foR A CH, — CH, -

WTHH:H—?—C=C—H \/
H CH,

A - c21f?-3 B — FRTFATA

Question Type-10: (S UG & GIeF

< Concept:
S mﬁmaﬁmwm (b)WﬁWﬁﬂTﬁ%ﬂi@mmﬁm

K.Cr;
R— CH,OH + |0 R— CHO + H,0
Gm%mm (0] stﬂai}‘ﬂm‘lm@ .

I In?

R—CHO + |0 » R— COOH
WHAEYLE +[0] 2554 Wﬁﬁ?tﬂﬁﬁ
r,0
CH; —CHZOH +[0] —==222, cH, — CHO %, CH;COOH

o5, s I G e

(R) Wwﬁ@m wiy feeed effes:
R—X + KCN S R-=CN + KX
CH;CH, —C = N + 2H,0 2 CH;CH, — COOH + NH,
¢ ARG a oI ufrs
o wﬁ[’ﬂﬁﬂf Laﬁtw ﬂwﬁ‘rﬁm
Tﬁfw‘m ﬁ‘rﬂ CHacUDH +H,0 - CH;CUD + H,0%
H,0* + e ooty - e FoasT + H,0
NaHCO; Bqe A< CH;COOH(aq) + NaHCO3 (aq) = CH;COONa(aq) + CO,(g) + H,0())
Ca(OH), (aq) + CO,(g) — CaCO5(s) + H,0(D)

S | -



NI ) A

H CODH(I) + Hzo

H30+(aq)‘+ Héou FAGEA T
H;0* (aq) Tie &6 — =1ie fEigwry + H,0

NaHCO; 3372 A% | H — COOH(aq) + NaHCO4(aq) — H — COONa (aq) + C0O, (g) + H,0 (1)
(ﬂ)wmﬂﬁm-vr wﬁas -ﬂﬁrs

Wmﬁﬁm "HO — cm:i +[o] €0, (@) +Hp0 ()
TfeTe BT fRferm HCDGH )+ zcul(cwn2 (aq) + 2NaOH (aq) = Cu,0 (s) + Na,CO0; (aq) + 4H,0 (1)
LG A-'L A |

oo STz fAfeFat | HCOOH (1) + 2Ag(NH,),0H (aq) = ﬁ,ﬁ-ﬁ%ﬁ (s) + (NH,),C03(aq) + 2NH; (g) + H,0 (1)

0
Il HzC CHg
I STHIZG 4 fl: 4CHy — C — O Nat + As,0; —  As—0—As'  + 2Na,CO; + 2C0,
Hsc/ \cH3

o T afites erge RiFRR:
NaOH

CH,COONa + H;O
‘ anﬁlﬁ%
3 g llﬁ NE;CDJ

T NaHCO, » CH,COONa+CO,+H,0

Na_ o CH,COONa+H,

—>| O 1N ﬂi CH,COOC;H; + H,0

P HLSOC geree wfise
SfAGTR PCl,31,PCl,

L » CH,COCI | (HCI | POCI)/H,PO,/(HC1+SO
we i | 150G, > CHCOCI | (HCL | POCLYH;POY(HCI+S0)
DRG
—> Wﬁﬂ:ﬂ"’“‘t”' T’ » CH,CONH, + H,0
= eIRE
— o] Cl,CH,0H+H,0
LiAlH,
. fawra Eelay
wnfifGe ufis ¥ ﬁHﬁl p> CHy-CH;+2H,0+31, [wrdTarer g o4 fRenge]
CH,COOH LA
| feedfmErm  |NaT > CH+N2,CO; + C10
IS, fires
051 P,0,
= » CH,COOCOCH; + H,0
ﬂ 3 | 4
STRREIRG 157 L
. W N o cnycoonE, —22% 3 CHLCN+2H,0
TRIIRE LB friz=
-1 L0 AHEE
femzm aprolm | FM P, GGAIS4Cl,
> e —>» CI,CICOOH Shy, CHC1,COOH +HCI(HVZ)
AT CIACEICAT
wnfife uffis wikTe afe
SOPh fmﬁiﬂﬂﬂ} ,:T‘_ > CH_._CDCH, + CaCo,

) [/ o /[ o ST 53 .




BECTmN ) %) R,

01. fResa otfo sosw e wfie? [KUET’15-16]

COOH COOH COOH COOH COOH

(a) @CN (b) @UCH?, (c) @NOZ (d) @ (e) @Cl
o

I
THNEL () foeoey t-07

@ — @ + o
T TR (+) BIE ZT FA0T O “RWIR BTG WFHLeR eRere! F0H T, T H R & T HY A9t
SIS Y T 6 APTET e 20 A | T TS BTG 2 FA0E C G + BIet 0 0 8 TG der
TR | (A T SCATRG S0 0, TR 2R Sl et @fSees e 3 #i1ta | (e 3eTes Fieraiat
&) AT (G AR SRR TG I AN @ FIE 71, (T ZCEARG ST SRS T JA | T

COOH
Qe *If e ZT 7t 1 ST Feen = e Aieratar & 2o cﬁgo-wﬁ@mﬂl T FACHTY aE e |
02. o W Rftrmfo wide? [Ans: a] [RUET’14-15]
(a) CH; — COOH + Na - CH; — COONa + > H;
(b) CH; — COOH + 4[H] “o23 CH; — CH; — CH; — OH
(c) (CH, — COO),Ca —s CH; — CO — CHs + CaCO;
(d) CH; — COOH + 3H; oy
(e) None
03. FREbHRT afitea @D Al 71 [Ans: ¢] [RUET’14-15]
(a) CH; — CH = CH — COOH (b) CHs — C,H=CH (c) CH3 — CH = C,H — COOH
(d) CHz — C;H, = CH — COOH (e) None
04. fAtsa @ADL @R f[idFam Teom =2 [Ans: a] [BUTEX’14-15)
(a) Salicylic acid (b) Picric acid (c) Thalic acid (d) Benzoic acid
05. fege ARMIRT 9 RrfEe 2 @R Seoy 32 [BUTEX’14-15]
)T e (b) WART afe  (c) e (d) frwi affie

H>-D
AL (b); CHy — CN —— CHz — COOH + NH;
06. C,Hs;OH @ifee Zw Z T2 zH | Z, C,HsOH «9a AR [firai <t @B s o1 ZF?  [Ans: b][RUET13-14]

(a) HCOOH (b) CH;COOH (c) CH;CH,COOH  (d) CH3C00C,Hs  (¢) None

07. Do fAatarea A fFed @ @9 SsTFel tost FE? [Ans: a] [CUET’13-14]
(a) HCOOH (b) CH;COOH (c) (CH;C0),0 (d) CH3COCH,

08. W et w1t Ze- [BUET’12-13]
(a) @FifoS affTen 1% e (b) TR GfiTed 1% =i mad
(c) ufifos uffited 5% w&E T3 (d) TR ufiTes 5% T a9

ATYE: (c); Vinegar is 5% aqueous solution of acetic acid.

N [ - ) T




VAN -

09. ﬁm tﬂﬁaﬁr@ @W?tﬁtﬁrcmm @ﬁf:ﬂﬁ’m? [BUET?12-13]

i i
CHa—CHz C—CH;-C- ot:Hz--r:.H3

(a) 1 (b) 2 (c) 3 (d) 4

1 3 5
I
FAYE: (c); CHz — CH, — c CH, — C — OCH, — CH; ; H no. 3 is most acidic.

3 MGR A1t 20 positively polarized carbon ST |
10. WAMET a5t P,05 717 Sae e 3 o 204? [KUET’12-13]
(a) Acid anhydride  (b) Ethanol (c) Ethanoic anhydride
(d) Methanol (e) Ethyl ethoanoate
O 0
AN (c); 2CH3 — COOH + P,05 — CH; — Pj 0— E— CH; + 2HPO;
Ethanoic anhydride
11, g JARmRe oy [Rrafs g & Seom om0 [BUET’11-12]

(a) fSr==yrE (b) fFaRfT affe (o) Tl uffe (d) 2UFET ufFe

H*/H,0

AN (d); CH;CN » CH;COOH
12.  SIFREGT @ 9°5R e [Ans: b] [RUET’10-11]
(a) Amyl Acctate (b) Ethyl Butanoate  (c) Pentyl Ethanoate ~ (d) Ethylacetate (e) None

13. Write down the chemical formula of the following: Acetic acid | [RUET’11-12}
Solution: CH;COOH

14, #IF FE, TE @ ST [ 4703 (59 (@19 ACH? SIewd i 8 ALFS &7 [BUTEX’07-08]
AL 21T Fet, Foel 8 QT 9B AT |
AL: TS

oIFT AT (D121 RUMEAL CH3CO0CsH,,
Tl SPoI2e MG CH3CO0CgH;,
RN 3ARe [ROSMEAG  C3H,C00C,Hs
15. 40 @B e Teefars snewt a1a? [BUTEX'07-08, CUET05-06]
() it =1 () S
AT T BT
1t el STIRE SIPITe0/CorBIRe UM
AT 32T fAG0IED

IR LR R 1 — qfsrera cifrare e afie ) [BUTEX’05-06]
AL SIS
17. (a) Production of vinegar is- [BUTEX’05-06]

Solution: Mycoderma aceti
Aliphatic __,» Saturated

chﬂhul
Aromatic Unsaturated
v v
Munuhydm: D1hydn:: Trihydric  Polyhidric
v v 4

Primary Secondary Tertiary
(b) What is enzyme? Write down two main characteristics of enzymes.
Solution: Enzymes: Enzyme is a nitrogenous organic compound. They are a form of tertiary protein.
Characteristics: (i) They make a reaction faster or slower.
(ii) They remain unchanged at the end of a reaction.

o /| - /)




Question Type-11: SIREE, STifHER, SRICSIIN w74¢

»  Concept:
¢ UG YR 28T aefr:
SriERRE i

A G + 1- |
SauT 1° C
1° wnfis 2° ST
R%I;TlﬁHq+NaDH+RX—rNa){+HzU+ Rgnr%ﬂ
2° 3°
AT @ wiEside e
NaOH |
FIAIRE o RE}T}% + CHal(ai) — R ~ % H + Nal + H,0
1° ;
CH,4
NaOH | |
R ~ NH — CHj + CH3l(sic) — R= N %HE + Nal + H,0
35
+
R _3Nm(%{3)z + CHala1e) — . mR — N(CH3)3 I~ b
- ° 31 CETICHHIR ST
LiAlIH
RFIRS/AIRAIZT @ SREH | g _ ¢ = N 4 4[H] "R —CH, — NH, (1°sifim)
HIRRI3%/iso-ANIZG S S SR
R—N = C+4[H] — R~ NH — CH; (2° =13 )
g LiAlH,
ST 20 R wrt R — CO — NH, + 4[H] —— R — CH, — NH, + H,0
WERE S WA 0
atereae et aatr : :
~ R. = C - NHz + Brz + 4’NEOH — R - NHZ -+ ZNRBT + NﬂzCDg - ZHzo
wffim
Sn+HCI
AIRW! GCR RO | g _ NO, + 6[H] s R — NH, + 2H,0 )
¢ RIS SO 2 ol al
PN ERESEEAN (AU CA M L Lo i s v P A RV O e R SR s sy
NO, NH,
FECGT Sfate et Sn+HCI @
+ 6 [H] —— 2 +2H;0
@RS e [ZH | (O)- CO— NH, +Bry + 4KOH— (O)— NH; + 2KBr + K,CO5 + 2H,0
'IEETE.‘IW‘-T‘-EHT] wffEE
T2 ARG 3 Cl Gl NH,
2
et i 2@ + 2NH; - r— 2@ + Cu,Cl, + H,0
ez (1°) SHEE | NH, . NH—CH; i CH3— N — CH
HIRFT (SOAE) 4 206 3° | () + CHal = @ e
i e N~ N, N e S
o 3{:

3
S IRE wREeE @ 2° > 1° > 3° > wpifAEs
712G gfres wrx f[fdFats 1°, 20 @ 3° wiffeoe wifim F2GE aftites it o o et o, 3t et
«TE 4T #(1efT 9l 99
1o Sif3A: R — NH, + HNO, —3 R — OH 4 N, 1 (37) + H,0
2° Spifee; RE—NH+HNOZ%RZ—N—N0+H20

RTRTAT SR [Zs qofa 0o #mnd]

NaNO +
3° SfF: Ry — N+ HNO, — ’RBNH‘ NO; (SEIaT 7Te)

() | - /|




¢

¢

melﬂmﬂmﬁmmmwmﬁ

NH;
@) @ + HNO,

/R /

NCI
NaNO,+ HCI
@ +HNO, ——Lo—> @ +2H,0

NaHO,,HCI

CH; — NH,(aq) + HNO, e CH3 — OH(D) + N, (g) + H,0()
RGP TeR JUw 1°, 2°, 3°wmmﬁ¢wrﬁmaﬁﬁm

NaNO,,HCl é
30°~35°C TNz +H,0

NHCH] EH_'.]—N-N=U

(ii) + HNO, —22H¢ @ + H,0

N —freiige fFne wrifi N ==E TR — N -~ firr3er ey woifis

NLCHB)Z N(CHA).?.

(iii) 4+ HO=ND —ostiC f?n +H,0

N, N-Gi2fireize fFmige syifim FTRT AN N, N =wi2f4rge fo=i3e wnfis
ST T oufS:

NH; N=NCI-
0°C—5°C
@ +NaNO; + 2HC] —— + NaCl + 2H,0
GrHCETAT weee [Rferas eifert:
H,O0/H*

N,CI”

A,40°C

Cu
ﬁ-
HCI, A

Kl A

100°C

CHED

Eszz,Hx

@—UH +N, +HX  [OH Yeras aa &ifsgrom)

[0 . |
H,0
EE:::%' O +N, T +H;P0; + HCl [H ﬁmelﬁrqm]

Cl
+ N, [of5orre i)

{O)- 1 (SIS fem) + KCl + N,

NO,

N0 @ + N, + HCl

X

100°C

CN

100°C

H;ﬂfH*

R / - /

Cu,(CN
KCN,Cu; (CN); @ + N, + KCI

e
AR

COOH

AR I P : THIR™-02

2BF
—3 (O)-F +N, + 2BF; + CIF  [Gpicalcawifem eiafs/ Balz schiemann ffi]

TR T AR
) @ + N> [mﬁsmﬁﬁﬁm‘f] [93TH, X = wcma Br]

|.|'|||-r|r“||||l "|:|. :

ﬂﬁ T oI YA “MeIsE!




0l.

02.

03.

04,

05.

06.

/oo )

Vak V4

TeiEne / Freifer Rfr:

@—NICI+H—@— =2 {O)- N=N—<O)- 0H +Hcl
o[ 2RI TS AR

SHTSIA @RiRres [

oz ©)- o+ <), 2 @)1=~ v
(ii)aﬁﬂﬁrﬂm:@—wzc1+u—@—w,{::—r@-m N—@—N{ ’ + HCI
(iif) FriZeT SEae: HO3S~<O)-N,Cl + H —@N\m -;HOE_S—@— N = N~<O)- N{ : + HCl

freitger Sitam

COOH s COOH e
(iv) FrlizaT Nl +H<O)-N{,| — @_ N = N—@— N{ . + HCl

MCQ
T ferareq f[Rifdam eum Tesim @ ie? [CKRUET'21-22]
(a) R — CONH, (b) R — NH, (c) R — COCl (d) R — COBr () R—CHO
FAY: (b); R — CONH, + Br, + KOH — R — NH,, 4 KBr + K,C03 + H,0
G @Al e T{Hw [KUET'16-17)
NH>
(a) @ (b) @ (c) CH3NH, (d) (CH3),;NH (e) (CH3)3N
AAMY: (b); HICATIDS SRR WWWWWWI oA —NO, ffEFarat a1 o3
BT Ve AP |
NH>
@NO ~NO, &% @I A e~ (NI Wrea Wi G (3 | ¥tel, —NH, @1 e~ density i 2|
2
@-NHE =<§>=o +NO, + H,0 RfEFm I7gs we @b? [Ans: a] [BUTEX'16-17]
(a) ST I{zCrED-; (b) FI9W KMnO,  (c) H,0, (d) HNO,
Br,/KOH; ©2 faf&raafo @lw el Rieam I<zq sat = [Ans: ¢] [BUTEX’15-16]
(a) Wurtz reaction (b) Willson reaction
(c) Hoffmann degradation reaction (d) Friedel Craft reaction
fcara QsISTITER T4y @A SIATETREtT s1ad S g F0e #Aa? [BUTEX’15-16]
(a) C;Hs — NH; (b) CgHsNO, (c) CgHs — NH, (d) (CH3)3N

FAMY: (C); (IO SHCANGS ST 5°C 97 TN SIoNIEy SRS 799 458 FA0e 2 @Faal ol
CTSIITCHA AT FfFS 24 | wﬁwﬁwﬁmawawmmmﬂm@m—ﬁ—mwmﬁmﬁﬂ
NI I | e BT S At B o) SRS Fiai2e 39 3/l

foe M 9= ot 1°, 2° 6 3° ST ey “idEr T T2 [Ans: c] [BUTEX’15-16]
(a) HNO; (b) Zn @ HCI (c) HNO, (d) CHCI,




AL

HCI 37=uafest Tae e 5 Be oy 217 [KUET’14-15]
(ﬂ] CzHﬁ (b) CH3 = CHZ — NH — CH:.]
(c) CH3 — CH, — NH, (d) CHg

(E) CH:.] A CHZ — NG — CHE — CHH

W (c) CH3 - CHZ _— NDZ "EI"‘ CHE]. -— CHZ — NHZ

08. CH3CONH; + 4[H] l;MH‘ = A; A QB2 [Ans: d] [BUTEX"14-15]

ther

(@)CH; —C=N  (b) CH3CH,CH, (c) CH;CH,O0H (d) CH;CH,NH,
09. During determination of nitrogen by Kjeldahl method, it is seen that evolved NH4 from 3.51gm aniline can be
neutralized by 3.69 cm® 0f 0.0103 M HCL. The percentage of nitrogen in aniline is- [TUT'14-15]

(a) 15.16 (b) 18.31 (c) 14.28 (d) 16.15

3.69%0.0103
= -5
sog = 38007 x 10~ mol

Solution: (No answer); n =

“W=nXMy=nx14=532x 10~% gm . %N = 5'32%"** x 100 = 0.01516%

10. @& SHRITSIAAN @ 13T & SnCl, W32 HCl 9t e ware s tof 2@? [Ans: d] [KUET’13-14]

(a) C¢HgNH, (b) C¢HsCH,NH, (c) CeHg
(d) C¢HsNH — NH, (e) CcHsOH
1. ZnCl, 93 TfHSTe (Fweee SE At 300°C Sowar @ T bieel B6e 94ee & @ zm?  [RUET’13-14)
(a) Benzene (b) Benzoic acid (c) Glucose (d) Nucleic acid (e) None
OH NH,
e ;O vty 22, © o
12. SR AFHIRC LiAlH, o fieifee 2 o @ cni ome [Ans: b][BUTEX?12-13]
(a) SHIRT (b) Smifare (c) STETLIET (d) SRS

H
STAMA: R — CN —os R — CH, — NH,Sifir
LiAlH,

13.  ZnCl, 93 ©oif3fere @wes SuTifaaa e 300°C Sr#iar @ Tn bitel See a9 & “i1en qi?

(a) Benzene (b) Benzoic acid (c) Benzaldehyde
(d) Aniline (e) Chlorobenzene [KUET’11-12]
OH NH,
QRS G ga
. . ¥
TAAYH: (d); +NH3 —— +H,
14. fea o FACe0a & waa? [BUET’10-11]
(a) CgHgNH, (b) NH; (c) CH3NH, (d) (CH3),NH

AMYI; (a); SHIRTTA F9 YT{E @ < NH3 <R3N <RNH; < R,NH

15. @b SRS 713697 [Ans: ¢] [RUET?10-11]
(H.) CEHE — N+ — N = HCI (b) CEHE = N+ = Cl - ND
(G) CEHE —N*=N- NO;~ (d) E?Hﬁ —N*=N- 504_ (¢) None

ELN / - /)




VE VA -

ertten
16. @HIEW T SRS @RiRe tod Ritrmeret RfFreTz e [BUTEX” 21-22
MEICICE
NO,
® © -+ HNO, TS0, @
@A 60°C
~ No, NH;
(ii) @+6[H] Sn+HCI @ B0
MRAGTIAT spifafee
NH, » N,Cl
aNO,+HCI
(iii) @-FHNO; o 25"(3 @ + H,0
ST R ST
FRZS
17.  Rees RiEa s w41 [BUET’11-12, 06-07]

(c) CH3CONH, + Br, + NaOH —
SMYI[: CH3CONH,, + Br, + NaOH — CH3NH, + NaBr + Na,C05 + H,0

18. (a) WRGFT WfTea A 19, 2° «W3e 3° Syifitra e arane ) [BUET’10-11)

AAHH: NaNO,(s) + HCl(aq) = HNO,(aq) + NaCl(aq)

NaNO,, HCI
1° = Ciiz — NH,(aq) + HO — NO(aq) ————— CH40H(l) + N, (g) + H,0(1)

29 - (CHs), — NH(aq) + HO — NO(aq) ——oxHc | (CHa),N.NO() + H;0()

3° = (CHs);N + HNO, (aq) ——22y [(CH;);NH] NO, (aq)

19. {FCerT SHZTG TARSTS T S 8 Bitel Gtaa=em s s R s« spififm Sevm

Cl NH,
AL (ohwm3 E“;:u‘::':c r@ +HC) [RUET?09-10}
sifafer
20. feea TREReba *Frgm o9 32 [CUET"09-10]

(il) CHE CDNHZ -+ BI'E 4+ KOH-=eeeeceaaaae
STAYA: CH3NH, + KB + H,0 + K,CO,

21. @ +Cl — OCCH; —? [BUTEX’09-10, BUET'06-07]

2
HCI
22, @— N,Cl + @— NH, — [BUTEX’08-09)




& ¥

W—mﬁmmmﬁmwﬁﬁa (LT WTHTeE=iem cofia e Flleacm A @ate 1 [BUET?07-08]
N,Cl N,CI l

2
+HCI + NaNO, ——, H
alNL; +NaCl 4+ H,0; +Cul Toooe +N, + CuCl

24, mﬁmﬂnﬁﬂﬂﬁmwﬁremmw&rmﬁmwwm fafarmms siread sz fa e [CUET’07-08]
STIYIR: CHy — NH; + CHCl, + 3KOH ——  CH4NC + 3KCl + 3H,0

(bad smull)
NH, N=C
e " A
@ +CHCI; + 3KOH — @ +3KCl + 3H,0
(bad smell)
25, WiINEH (3 eI SeefRamiRe ween 9t N, e i s 360 9 [CUET?07-08]
HAYI:
NH2 NHCOCH3 NHCOCH3 NHCOCH3 NH2
@ (CH3C0),0 Cl-S0,-0H NHy l':.lzf -H:H;;CUUH

(ST S0,Cl S02-NH3 SO2NH2

(T fAETaTES )

26. <O D>—NLl+ <O D>—O0H -7 [BUTEX’07-08]
sarg: <O >—NoCl+{ O >—0H - <O >—N=N—O >—OH +HCl

N2Cl

UTEX?07-08
27. @ HCI B )
N»Cl

TATNT: @ “HO N,

28, frema fiuize e @ e e 3 T #idey A Taea? S SR ordne ) [BUET04-05]
CH; — NH, + HCl + NaNO,—> CHz — OH + N, T + H,0

0-5°C
@— NH, + HCI + NaNO, (O D= Nyl + Hy0

Greirer =ifas HNO, @@ el fferar N, Beoi ata | 78 worfiee fFaide soifis HNO, @ Y ey Stommam
(0 — 5°C) fafzFm F1a SIS 73e o167 03 | fize sifime wrewel SrTsifam w3 2% 0, g of

afefeia 2t REfers 20 FZGITe, ST @ ST e 8% 0 |
29, T HarlA SrATE e 73S Sfefies KI a7 AiRe Tud FRE- [KUET?04-05]

AL @Nza +KI—> @’]wz + KCI

30, WAz fidy @9, a0 738 AR, FF0F *Br 8 EIRrTaeE firte Ted T [BUTEX03-04]
NH2 NC

(60-70)°C
ws:m:@ + KOH(alc.) + CHCl3 - -@ +KCl + H,0
N, / - /)




Question Type-12: @9, X[TE =9, fafee W”"",[_‘-‘T G|

«  Concept:
¢ IE e PR
(a) oy RfdFam:
Y S CH, — CHa + 2N
2R = X+ 2Na —— R— R+ 2NaX; 2CHyCH,Cl + 2Na g+ CHz — CHp — CHz — CH + 2NaCl

3R—X + 3R'=X + 6Na = 6NaX + R—R+ R'—R'+ R—R’
3CHsl + 3CH3 — CH,1 + 6Na = CH; — CH3 + CH5 — CH; —CH, — CH; + CH3 —CH; — CH3 + 6Nal
Llac faeto

CEHTTH
©) Soe-fefosy fRfen:.
@—-X+2Nn+}{ R E_1..Y O~ r +2nax
AR YrMEs WA YIRS SRS ATe

(O)—[Br + 2Na + Br] — CHj; » (O)— CHj + 2NaBr
A

(c) HCN 95 9 faf@sar: RX + HCN = RCN + HX

H+
RCN + H,0 — RCOOH + NH,
H,0
RCN 4 H,0 — RCONH,
LiAIH
RCN + [H] — RCH,NH,
¢ N5 Pre ghrea:
() TFIS Fare 2o [
K.Cr,0454+H,S0
CH;CH,0H — ; 2% CH,CO0H 203 CH; COONH, - —— CH;CONH,
CH3CONH, —% CH, — NH, % CH,OH.
(b)mtér@mrmﬁﬁm
RCOONa + NaOH—: R—H+ Na,C0;
(c) STEIF:
4 3 2 [ 0, {0t
CHy~CH,—CH=CH it e ey HaOulA
. 4 2 .«;Hcﬁ CH;=CH,— HC i §H2———> CH;CH,CHO + HCHO + Z10
R 0——0 EPERTERRRE  wamefezze
- STEFIRT Gt NUERIIFm
CH4.CH = ClL.CH, 03 O H,0. A |
_ CH3.CH=CH.CH; > CH3~ HC """CH.CH. —2-
5 o CHCl, A : (,) 3 —%—> 2CH3~- CHO + ZnO
| el WIS Rise
P ecmr&scm (2w)
H,C CH L0
H cy, CHCI 7 N7+ Neg. 2n 7 CH3CHO +CH,COCH, + ZnO
2-fareiger Faefow- 2 O——0 7 wiferiegzs i
I1,C : | "
3 &
H,C CH. CHCl 1.c”T , |\ > 2CH;COCH; + ZnO
3 3 CH Zn -
2,3-Grafize feHn O=0 ™% SUIREH 2 we)
GTEMIRG sy

il (| B Y, [/ > W



// @ / /TS 3T o SR-0R

¢ CIATST IO (AP (I & I T RSwe:
-5°C H,0
(O)—NH, + HCl + NaNo, ——5 —{O)—N.Cl => (O)—0H ; {O)— 0H +2n 5 (O +Zn0
1, {O)—NH; + HCL+ NaNO, “=5 (S)— N, 1 SN2 =y o
H,0 NaOH NaOH+CaO
{O)—CN —} (O)— COOH — (O)— COONa — : " (O) +Na,C0;(Ca0)

e Cﬁlm—ﬁ‘ﬂﬂﬁﬂﬁ
CH Cl; KOH

TFH;SD.; CH
170°C » 97 = CHZ + HZD

¢ o9 et fa-aee e
CCly KOH
CHZ == CHz + Brz — CHzBT— CHEBI" m CH = CH 4 KBr + Hzo

(ii) CH;CH, OH

MCQ
01. feos fafEFam A cneifea aemaffe Fas o [Ans: d][CKRUET'21-22]
Red _
CH;;CUUH _F P+Cl, X CICHECUUH KCN(alc sulutlnn)i CNCHECUUH Dil HC1, reflux } [A]
(a) HOOC — COOH  (b) HO — CH, — COOH (c) HCO — COOH
(d) HOOC ~ CH, — COOH (e) HOCH, — CH,OH
02. T RfEFaiTs Sereng 1V a3 I Soes St 22 [KUET'18-19]
P/l, KCN(ale) 2H,0/H* _ LIAIH,
CH;0H— | » [1 » [1l —— [V
(a) CH;CHO (b) CHECH OH (c) CH;CUDI—I (d) CH3CH,CH,0H (e) CH3CH,COOH
AT (b); CH3OH—— CHyl — CHyCN - CH3COOH —— C;HzOH
CuCN H,0/H* A
03. Scheme -1: CgH;N,Cl » CgHsCN » CgHsCOOH ——— [Fruduct —1] [Ans: e] [KUET'17-18]
Fe/HCI NO,+HC1 273K H,0/H*
Scheme -2: CgHzNO, » C¢H:NH, — » CgHsN,Cl —— [Product — 11]
NaOB
Scheme -3: CH; COOH L. » CH; CONH, — [Product — II1]
CEne Scheme 3 Product-I, Product-II @98 Product-IIT 27 I,
(ﬂ) CEHECOONH4, CEHSCI and CH30H (b) CEHECGNHz, CEHENH2 and CHEOH
(c) C¢HsCONH,, C¢HsNH; and CH3NH; (d) C¢HsCONH,, CgHsOH and CH,0H

(ﬂ) CEHECGNHz, CEHEDH and CHBNHZ
[NDtE: CEHECOOH GRS HRIH CEHECDONH.@'EIE‘{ NaOBr tﬂ’ETETN‘Tm NaOH + Brg mwm

04. Set— I «a AT Set — 11 fe F1| [Ans: a] [KUET'17-18]
Set-1 Set-I1
T H,50,4,170°C
(2) C;HgOH —————s (1) fiea
(b) CHI Ag(Power, A) ; (2) \ﬁaﬂ%‘ﬁ
? wfbe faraed (3) IS
(c) CH;COONa(aq) > (4) SRR
NaOH/Ca0, A
(d) CH;COONa - =~ (5) 20w
LRIEICH
(a)a—2,b—4,c—5,d—-1 b)a-2,b—-4,c—5,d-3
(c)a—2,b—-2,c—=5,d-1 da-4,b-2,c~5d-3

(e)a—2,b—2,c—4,d—-1

7 e [ T —




Vak V4

Butane molecule is converted to 2-methyl propane by Isomerisation in the presence of the following environment.

(a) AlCl5, H,S0,, 300°C. (b) Al;03, HCI, 150°C. [Ans: d] [IUT'17-18)
(¢) Al,04, H504, 150°C (d) AlCl,, HCI, 300°C.
06 fai=re fAste + RCHO = ‘X" ; X (1R yaeia Ay . [BUTEX"15-16)
(a) ¢S] Wfe (b) 3° alcohol (c) 1° alcohol (d) 2° alcohol
OMgX Cllll
I H,0
STYIA: (d); CHyMgX + RCHO » R~ € —H ——>R- ¢ —H +Mg(OH)X
fETATe Rt CH, CH,

07. fAres fAfFam Q W3 W™ Wea® @MG? CgH — CHO + H,N — CH; = Q + H,0  [Ans: b] [RUET*14-15)
H
|

(ﬂ} CﬁH-j — COOH (b) CEHS —C=N- CH3
"
[

(L") CEH:; —-—C=N- CﬁH; (d) C5H5 - CH3 — COOH (E) None
08. Complete the following chemical reaction: CgHsCOCI + CHz — NHz = «+++ HCI [Ans: c] [TUT'14-15)

{E) CEHECOCHE‘ (b) C,E,HENH - CHH

(¢) C¢Hg — CO.NH — CH, (d) CgHsCO — N(CH3),
09. W @ERcea AN AR wnifitar [ieae < Ceam = [Ans: ¢][BUET’12-13]

(a) 904 (b) SITETCHIZE (c) 20 SiiEe (d) affe SIRZRGIRT

ﬂ
i
WCH;—C Cl+R— NH, = CHy — C — TH+Hc1
2° SINIRG

10. ﬁmﬁﬁma BT (PIN Coal AT | [Ans: d] [KUET’11-12]

RCOOH ——2, R — COONH, — 7
1. ﬁmﬁmmﬁmﬁ (R) @3 I {37 [BUET’10-11]

OH
H,0
—_—
25°C
(a) FEACIRGA  (b) @fEH CRTE=as &1 (c) SifFfeE (d) @ eEfezize
+ i
Nyor - OH
z

AT (b), m‘*
12. AFmEfE AaEaat 74 F98 CgHsCOCl + CHz — NH, = +HCI [Ans: ¢] [KUET?10-11]

(a) C4HgCOCH; (b) C¢HsNH — CHa

(c) CgHs — CO.NH — CH; (d) C¢HsCO — N(CH3),

(e)C4HsCO — NH — (CH3),
13. MG ZAA-51Za R&fewar [Ans: ¢] [CUET’10-11]

(a) @_N2Cl + H—@— bl @—N—-N—@— OH + HCI
(b) 6 @OH + 2FEC13 —_— @—(ﬁl GFEZ + 6HCI
() O )—OH + CHCl; + NaOH—— @— OH + NaCl + H,0

CHO
(d) None of these

L) /| -« )




VA Yo

ertten
14, R 9= [BUTEX’20-21]
CH
CH,CH,0H —3 p Z1MEPr p a0
sy 244 et zm:
H H
0] CH3MgBr | Cl(aq) '
CH;CH,0H — CH;CHO(A)  CHy— € - DMgBr (B) —-—a CH;— € - OH(C) + Mg(OH)Br
CH; CH,4
(2° Alcohol)
15.  fwferrs Rigmett <4 wa [BUTEX'20-21]

O O-NCl + @-N__‘_CHJ HC|
3

HCI _
(1]@—N1c1 + O N_‘_ . @—N N—@—N CH,, ™ HC
MCI M
(,.)@-0 ~C—CH,——> @'C CH, + HO—O-C—CH;

O- mmﬁmm p- EEE WPTBam
(TAIMS- SN SHRAATE @RIRTes CAfEfere @mrem OoRe T6e FHE @ GO SR &
900 W3e wed| @ oAt 2R Ao Tevm 71 « R fFmsmiEm s «ifafes) « [ferm 2=
(—COCH,) Cova SfHTEm 208 (@A Ieead Sedl «3 A7l S[{E gaeiEe 1 Wit Semar (160°C W)
ot MY @qL T S AT gE e @)

16. *FTEM 79 T [BUET'19-20)
@) [P 40 KMnO, fUUH
—_—
. 2 KOH CooH
WP J+[F____1-H-C)-N<Z)~0
H
II H*
(c)CH;—C— N CH3+H20 — [P + (P |
H
Wﬂ'ﬁ; (a) HC = CH (b) @ . (‘C) CHaCODH, CHENHZ
0
Oxidizing agent c
17. fREome- 2 @3 7o R et X e——— CH3CH,CH(OH)CH; ——223 y [BUET'19-20]
(a) X 0T T A @ s e e
(b) X s} tofsa wow s @ wf¥itea 1 fed

(€)Y %5 S3aa fine | «raR AiofAs Agas fore

0
Il
‘WTW (ﬂ) CH3 CHE - C— CH3

RE5—2=-67

(b) &FSF- K,Cr,0,, @fre- H,S0,
(c) CH3CH = CH — CH; 8 CH3 — CH, — CH = CH,

b ECCI) /-

AT ooy FaNy e




B ) 2 /)

18. (i) Fices fRfermB sy == [KUET'19-20)
OH OH
Qe mamD ©
NH-CO-CHs
I Il 111 v
I At 11 a3 11 Ut IV (@19 Yataa f&fese
(if) R iR Risemetet s=id <+
Pt/Al;0,4,600°C
(a) CgH4(CH3), + H, S > 7

(b) C;H5OH + COCl, — ?

=50C
(c) CgHsN(CH3); + NaNO, + HCl ——>?
(d) CH3 — C = C— CH;3 + Ag*(NH3);NO3 (aq) —?

OH OH OH OH
$0,Cl,,CF4COOH
T (1) @ ‘““’;fz“.. @ sl @ ol il @
CH3-C=0 CH3-C=N-OH NH-CO-CHs

| ¢t 11 Siforacem s faferar
11 T 1V @1 “Rf&eT et

Pt/Al;0,,600°C

(“) (ﬂ) C5H4(CH3)2 + Hz 4 CEHE + CzHﬁ
(b) C2H5UH + CUC]z — (CIHS)ZCUE + 2HCI
N(CHs)2

0-5°C
(¢) C¢HsN(CH3); + NaNO, + HCl —— @ +H,0

NO
(d) CHz — C = C — CH3 + Ag*(NH;3),NO3 (aq) — it 73 =
19, cﬁﬂizozwﬁﬁﬂwﬁﬁ@mﬁmcﬁmaalemmﬁwﬁvswmqm%ﬁcﬁmwmcmum
B aReica Gif® @ D @32 D G NaOH @7 Sl Gaeeta e fRfdrat a1 «fa Sist et T 20 E s *fewl
T4 | E ciieet efsiara Seifafors 2iRugiver crt a1 20 C GRS sitewt a1 D it e enfare v 2t «aio

7w «fTS F oewl T, TiF SAfA% ©4 60; A, B, C, D, E 32 F &7 7Fe fAdfa 72 [KUET'19-20)
CH3COOH
e IMaLLABN e f" S| e abre
CeH1202 . LiAlHq / B D \‘:O;f F
A [ awm |
A \ T Ha T | .
= LiAlHs ———— 4P

Il LiAIH,
CH3 - CHz — CHZ—‘(C 0- CHZ — CH3 -"_F CH3 - CHE CHE - CH — OH + C{E} CH OH

(B) (D)

CH,CHO + [0] = CHH%}UH

D
(D) o

NaOH(aq) | A
- —_ — CHO CH — CH = CH — CHO
= CH = CH~ CHD-—+CH3 ~ CHj ~ CH, — CH, — OH
(E

_ // 8ot / S ECASTCE B A R EL s T ek ) 1108




21.

22.

[RUET'19-20)

|
CH; —C—NH; + H,0 -

S
Il
W‘ CH3 - C - NHE + HED = CHECDOH + NH3 + st

fFeita sinsat T, TFaceTE o [RUET'19-20]
(i) A& AT RGBT (ii) o e G@ieare ™
(iii) ST TS SIS (iv) 2R s «Aff=
(v) @FTE STRIRGIRE (TS ST afFie
NO,

7 H2 S0

Fe Fe
(ii) CH4 + Cl; -—;—-r CH3Cl + HCl; CH3Cl + Cly ——— CH,Cl; + HCl; CHCl, + Cl ——2) CHCIl; + HCI
(iii) CH3l + 2NHj3 = CH3 — NH; + NH,l

200°C,1000 atm
(iv) n(CHz = CHp) ———— [-CH, — CH; —]n

0 0 0
I H NH | Br,+NaOH
(v)(@' c-—) 0 ——z—r@-C—OH—EL@-C—NHz "*’: » (O)-NH,
2

0-5°C
NaNO,+HCI 2 ©-N= NCI @_UH

fc RfeFmetema e BesveTgz o [BUET'18-19]

(a) @— OH + Bry(aq) — bl

OH
@)@COOH LICH, O e HatOs,
3 5

250°C, H3PO,

(C) @ +CH3 — CH = EHE »

30 atm

Anhydrous AlCl,
(d) @ +CH,Cl .~,

H H,0, 25°C
(e) HD—@—N:_'H +(CH,C0),0 — =

ARSI O RS AvEe.,




e

23.

24,

25.

26.

27

-[z_ 7w

4

ISR *ineat T, ez et [RUET'18-19]
(i) ERER cit=s Siifas (ii) 53R it 6 we 6

(iii) GTIETIT cA TS citss BreA (iv) @AEAREE e el (v) e ot @ fem
ANY[H:

Cl
uy Cl Cl

i) @ +3Cl, —
cl
cl

: CH, CHj

H, C
o ‘ oC NO HNO; NO, HNO; NO; NO,
i + HNO > ((5’ 2+ @ >
(1) é 3 (°11E) H250,4 (") H,S0,, 6ﬂ“C H,S0,,110°C

NO, NO, NO,

>

(iii) CH; — CH, — COONa + NaOH c_::: CH; — CHy + Na,CO,

cl Cl @
: H,SO !
(iv) 2 @ +Cl5C — CHO = f""s) Cl=C= € —H+H,0

v) @ — @ +Zn0
Ca(OH); . heat _ NH,OH

fArga Rf&F s)f +3: CH;C00H——= A — B —— C [BUTEX'18-19]
T
Ca(OH
AT CH;CO0H ——3 (CH3CO0),Ca + Hy05 CHyCOCH; 2% CH, — C — CHa + H,0

[0] C,HsMgl mm
KzCr;DﬁHESD: 2 HClan) } Eu:as reagent Qi ST (S — 10) ﬁlﬁ%%) ﬁmﬁ’iﬁﬁl
TAINE: C 2 2° STz [BUTEX'18-19]
0 OH
[0] l C;HsMgl | efwp fieren

CHECHZOH H;Cr;ﬂ;+H;SD: CH3 C-— HCI(d1) > CH3 —CH - CEHE ey CHE - FH - Cz H5 + Hzo
Cl

mﬁﬁamﬁﬁrﬁﬂmﬁw T4 T fFeiR? AMwaemz o [BUTEX'18-19]

z e
STt R RS 4 ,c\+4[u] IR s < 440
i fferatrgz o %) [BUET'17-18]

KCN I I
(a) RCH,Br e | l » RCH,CH,NH, — RCH,CH,0H

KOH (aq.) I
(b) CH;CHBrCH,4 dl| » CH3COCH,

KCN LIAIH
Aq14[: (a) R CH,Br—— |R = CH, — CN =, R— CH, — CH, — NH
Ethanol 4

| HNO,
R'_CHZ_CHE‘—NHZ 'R—CHZ_CHEOH

OH

Hm I C °C [
(b) CH3 — CHBr — CHy —|CH, — CH — CHy| ——==) CH, — C — CH,




D, [/ - |/

28. Ao fRfermefemm s Stz fores [BUET'17-18]
CH,
(a) HCHO +HNO, — (b) ©_ +C,H;OH LIq-NH;
Cl
)
(©) @ +Clcocl AlCl4 . (d) +Cl.C — CHO H;SD.:(Eum:}
COOH o
(e) O +(CH; — €0),0 ———
Y (2) HCHO + 2HNO; ——— HCOOH + ZNO, + H,0
3 HCOOH + 2HNO, »3C0, + 2NO 4 4H,0
CH, CH,
M
(b) @ +C,H:OH iy ; [Birch reduction]
Liq. NH,
CoCl
AlCl,
(c) @ +CICOC] —— @ +HCl
Cl
Cl @
(d) @ +Cly C— CHO “‘5“‘;“’"53 C,C— € —H +H,0
Cl
OH COOH
OO | (CH.C0),0— 2, CH, — COOH + @
+ » CHg —
(€) s ? 0-CO-CHj
29, fFeitg <inewt T, AAFAIAE fored [RUET'17-18]

(i) freas mm |
Fe
STAIT: CH, + Clp ——— CH3Cl + HCli CH3Cl + Cl; ——— CH,Cl, + HC

Fe
HCl
CHz'Clz - Clz m CHCIE +
(il ) CF7E CRIT SifET |

@ zn dust HNO; ‘ Sn/HCl1
REICIGE e Y
H,50, [H*] !
Phenol Benzene Nitrobenzene Aniline

QIECISIOR G (il Trve o b L




VE VG -

30. o wfaetafer syt 7 [RUET'17-18]
(i) NaOH (aq) + Cl, (g) — (i) HBr + H,S0, -
COOH

| H*

(iii) (O)—CHj + CH,COCl ———3 (iv) C,H<OH + @ =
HCI
CH,C

(v) CH3CONH, + HNO, —
Y-

i 70° °c
(i) NaOH(aq) + Cl, (g) — 6NaOH (aq) + 3Cl,(g) — 5NaCl + NaCl0s + 3H,0
(ii) HBr + H,S0, —» 2HBr + H,50, - Br, + SO, + 2H,0

aiia Dry AICI
(iii) 2 (O)—CH; + 2CH,€0C1 —— @_ C — CH; + @ +2HCl

COCH3

COOH COOC,Hs

H
(iv) C,HsOH + @ = @ +H,0

HCI
(v) CH3CONH, +HNO, —— CHy — COOH + Hy0 + N,

HNU;
31. Ffafe Rfgrmetam SeaAmatet &0 [BUET'16-17]
COCH3 &4 i
;SU.; .ﬂlﬂl; \3 f Hl':
| Cl, . - CCl,
CH3 CHCl trans—z—-huteng
s
COOC;H fl SHpEY-00
2Hs reflux
(d)@ +CH;0H &=——  (¢) s,
H,S0,
H,SO
e () +() 22, (T
COCH3 COCH,ClI
AlCl
N oW OBl
2
CHzs CH»Cl CH3 CHyCI
CHj H “TE E';E
\ / Br. In
(c) C C.\ — Br— C — C —=Br
ccl, | I
H CHjy H H
trans—2-butene
COOC;Hs verflise COCHz;
(d)@ +CH;0H = +C,H:OH
G s o
CH_'] “C‘CH} CI—I3—C—CH3 CH:'I_C_CH3

0 0 2y s e
NO; |
-{E // Lo // AIetTa erer Ry ouse...




32.

33.

34.

35.

Bz VANV

Vi WA

freea R St fMees eruteT Bug wine: [BUET'16-17]

F
CH;CHiCHzGH — B = CH3CH,COOH » D — CHgl.'JHzCDPiJH
c E
CHs

(a) T A (T TG ANl C €S TS Fare @ RAaeetat @ 53yl eres of 7|
(b) G5t A CTF Q1% C ¢S =ifiets zre @it B ol =01 @Sl B 97 sigas fad
(c) CTI% C SHIK SIRYW PCl; @3 el ffiran < @l D tod wat cirs =i | RfdFam sifliead &4
(d) =9 F 93 7 &
KMn0,, H,0,

AT (ﬂ) CH;CHECHon » CHECHECODH

(b) CH3 CH,CH,OH -ﬂr CH3CH,CHO

H,N—CH,

(d) CH;CH,COCI » CH;CH,CONH — CHj

& T st o7 o : [RUET'15-16]
(iif) T FICAFANCE Prerelq AI0e(Ed e od T4l 24|

(iv) T Y 7Y H,S0, TF K, Cr, 0, 91t Sifds = 2|

FTYI: (iii) 2 CHCl + 6Ag — HC = CH + 6AgC]
K2Cr; O3+H2504 K2Cry04+H;504

(iv) CH3CH,OH = » CHyCHO —————— CH,COOH
farsa oiffb faferar et Teom corre ffdrmy Trage *S/ @Rt i Srgd T4 [BUET*14-15)
w(Q— (P cx, oG — U

NH, CN

(c)2CH=CH - CH3=CH—(E=CH2 (d)© > @

Cl
(E) CH:.]CHZ — CHZ{J‘H — CH3 g ?H — CHg

Na, NH _
A (a) @ = () CH, (b) @ e 5 @ (Birch Reduction)

NIH; CN
e HCl H—C=CH d @ NG ¢
(¢) 2CH =CH — H,C=CH- (= CH, (@ Cuz(CN)2,100°C
Cl
AlCl4
('E) HgCCHE o CHE — OH —T} HEC ?H EH:;
GEE (AT fATea et Aot wzrmﬁﬁﬁﬁﬂmﬁﬁm [RUET’12-13]

() @rtfrrrer (Rrafs cafem) (i) FrmEeREe (iii) I @ f&w  (iv) Prefee ufe
ITAYI:
OH ONa




T ) P/

CHO
60°C
(i) % CHC13+3NaOH———I- + 3NaCl + 3H,0

OH

Cl
(iii) + PCls—-@ + POCI,; + HCI

OH

OH
NO, | NO,
(iv) @ + 3HNO;(conc) —=—»
3 7o) + 3H,0

NO,
36. fArafEie aisiefd se=ifde @ woea @ o et o

' [RUET’12-13]

ORSREREWRLES (i) CFE ZLe @G - (iii) 2ffem zre SRR

(iv) 2 s e (v) CTIFCHIT CoAtofwTab 20O 2049
e (i) (O Y +CHy 0l ——— daiins. —CH, + HCl

(ii)@ FZn —> +Zn0
400°C

- T Br—'CR: =ICH, £Bf — N
(ii1) CH, = CHZ_P r— R 2 r CaHs—OH

0 H
5 2HCHO ”H » CH30H

Zn,H;0 LiAlH,
(v) CH;CH,COONa + NaOH ——s CH3CHs + Na;CO5 + H,0
37. IO ARTRAS STATACR AT
(i) e ST @RI A5 STaeRes g o1

A
e {O)—N, 0 + Kl —{O)—1+ Kl + N,

(i) R S R RS SOICARAT GRS e IR <

Z
38. fAuow RfGrmefer =t o=
(i) CH;COOH + NaOH -

wm- CHECDOH + NaOH — CH3COONa + H,0

(ii) @,COOH (conc.)H,S0, N
OH

STH: @/COOH +CH.OH H2804(cone) | f .COOCH;, +H,0

X, / -

(iv) CH; = CH,

» CH = CH + 2KBr + 2H,0

[BUET’11-12}

[RUET’11-12]

AMTOTT ST 1FRGT AUGHL..



' CIBRIES TR,

39, fATea RiFmeteTa 1 Seoim B

; I
Anh C-Cl
. (i) @ +CICOC) ——Yrous Alcls | STt @ e
CH, CH,
., (ii) Na/Liq.NH,
| C,H:OH — Y
1 CH,- CH - CH,
asia AlCl
(iii) +CHy — CH = CH, 222, _——— @

40. SIHTETR TP Sl 8“1 TRG SifAfEm cofim armmfe wiead we |
NH, -

NO
CH,C0Y,0 N
wm:z@ (CH3C0), m@ ‘“‘i“””u©/ +©
+CH3;COOH "7 H,50,,30°C
NO,
NH, NI,
e e +CH.COOH
—_—
H,0 + ¢
NO,

41, Seoma A W fesa Ritrmefe s o9

(i) Pb(NO3),(aq) + H,S(g) =
NH, C=N

0-5°C HCI
(i1) +2 [0] - (iii) +2H,0 = ZHZOT

Chromic Acid
(iv) CH;CONH, + Brp + KOH = (v) K;Cr;07 + 4H,50, + 3H,S —
FAMY: (i) Pb(NO3) 2 (aq) + HzS(g) = PbS(s) +2HNO;(aq)

EG AEFIRG  A2nT afTe

NH,

(11) @ +2[0] __915_1:._.. 0=©=O+N2+HZO

Chromic acid
p —(@ATSIPRAN
C=N COOH

(iv) CH;CONH; + Br; + KOH — CH3NH, + KBr + K,CO3 + H;0
fariRe Sifas
(v) KoCry 0, + 4H,504 + 3H5 = K,S0, + Cry(S04)3 +7H,0 + 3S
ofB1fRIIST FIECED GRS (1) AreTTFo

ECy /- /

[BUET’10-11]

[BUET’10-11]

NHCOCH; NHCOCH, NHCOCH;

[RULT10-11]

oIS g TRaya 9.




PRI Y (3 THIRI-0

(i) CgHsOH + CHCI, + 3KOH ——q, TAIY: @’CHU +3KCl + 2H,0
OH
, 20°C H
(ii) 2 @ $2HO = S0 By NI @’ SO3H | 1o ~O)—50;H + 2H,0
OH |
" 60°C HO
(iii) +CHCl; + 3NaOH ——— @’ +3NaCl + 2H,0
EH3 ::H, \
Cr,0
(nr)CHa—CH OH + [0] =2 ;ﬂ N AIYI: cna-c =0+ H,0
H2S50,
(v) RNH, + HNO, - HAYA: R — OH + N, + H,0
43, CTE (U AITed AT et stotem T AT fRfeFatmrg fe [BUET’09-10)
(a) ayi=eTe (R =)
-H
smarr: {O)— o + NaoH —22, {OD>— ona -2, (OD— 0 - cHy + Nal
(b) @RS
swari: {O)—0H + Pl - c1-{ Y +P0Cl; + HCl
(c) Prefas uffre
OH
NO, NO,
HNO;
H,S0,
NO,
44. foee RiTFmetaR @3emia Te B omater B [BUET?08-09]
CHj3
I
H3C-C —CH;, CH; CH;
@ conc.HNO;
(a) conc.Hz50, i H3 —hs Hg_C C CH3
o @
@ CH3CHaCHaCL CH; — CH, — CH,
(b) AICI,
(¢c) CH3 — C = CH, + HBr ——— CH, — (Br — CHs + CHs — CH — CHyBr
J
CH, CHj; CHj4
(Major) (Minor)
H,S0,
(d) CHz — CH, — CH — CHy ——— CH; — CH = CH — CH;
OH
Pd—CaCOj,
CH, — _
(E) 3 C=CH+ Pb (OA '::)—2"" CH3 CH = CHE

-l_ VAR N & S ———



VE NS -

45. Teon it s s [CUET’08-09]

CH, CH, No,  Clh
H250,
@) 2 @ +2HN03 30°C A @/ + @ +2HZD
NO,

(¥) (CH3)2C0O + CHCl,4 . CHsy( /CCl,
m  CHy " \om

FRR

6. TRl i s [BUTEX’08-09]
@ {O)— COOH + C,H50H ——

(%) AgBr + 2NH,OH —

F: ) {O)—COOH + C;H;OH —'ﬂ@-coo — C,Hs + H,0
() AgBr + 2NH,OH — [Ag(NH3),]Br + H,0 |
47. oo R AR Airr=ifEe Fems et e s [CUET?07-08]
(a) GG CRATPIFTAD CRITEF 20 ) 2R e e (c) 2R et sl
(d) CTFET (RIS (G (e) I CATF DR

Ca0
ST (a) CHyCH,COONa + NaOH —— CH; — CH; + Na,C0;(Ca0)

H,0
(b) CH, = CH, + H,S0, — CH3CH;S03H—— CH3CH,0H  —
(0]

HI'; +KOH <+

HNO, NH,
CH4OH ¢——— CH3NH, ¢———— CH3CONH, «—— CH3COOH

cCl
(c) CH, = CH, + Br, —— BrCH, — CH,Br

ROH
BrCH, — CH,Br + 2KOH —— CH = CH + 2KBr + 2H,0

OH
(d) @ +Zn -—ﬂ—n—r@ +Zn0

CHj

ward AlCI
(e) @ +CH,Cl g =@ +HCl

48. frgfefire ammafe Rt Aoy T els [CUET’07-08]

70°C
wiYf; CH,CONH; + Br, + KOH -T CH; — NH; + KBr + K;COj3 + H;0

N,CI Cl




T T 1A THTH-03

[ICUET’[!S-I}ﬁ]

() 350°C Ste{Tara 2T I cﬂqﬁmm 97 ToR A eraifs s
STAMI: CHz CH, OH 222 — CH, = CH, + H, O

m)ﬂwmwmﬁﬂaﬁ@aﬁﬁsﬁﬁmw

CHO CHCl

: ©+ PCls —> @ +POCl;

(c) w3l “ireett M2l Wrifires #iEe Ridat saE
ANYH: Zn + HN03 —> Zn(Nﬂg)z -+ NEU + HzD

(d) S8 51 @ ©ITe| mmiﬁr—»rasﬂm TR ©HEfers wrifean vz e Rice e

cl
W:@+NH33L:;_1© +HCI

50.  TRIGASTA] o4 T | [BUTEX’03-04]
(a) H3CCONH, + KOH + Br, —>  (b) CH;COOH + NaHCO; —

A
FAMYI: (a) H3CCONH, + KOH + Br, — CH; — NH, + 2KBr + K,CO; + 2H,0
51. frafaiRe Rigmefrs Seoty 47 0o GNoPIE (A, B and C) @7 JCF@ R 717 s [BUET’02-03)

NH,=salt Br,+NaOH CHCl;+NaOH
CH;COOH ————A — B .

FAYH: A~ ZAAMRE (CH; CONH,)
B— frif3e wiifsm (CH; — NH,)

10

C—> fli2e wiR e AWFIRS (CH; — N = C)
Question Type-13: @ﬁ“’ﬁ cIRMRIEENSII%E (AZ(E, Mo A

< Concept:
¢ ffew ewged Qv &6fere wiw 8 Fgae:
H ,C] Cl
CI&,C/C\C.-'H
H""l IHC] = CH; OH Cl
R/
o INSS H=C ‘F‘Cl C Cl— C=NO,
H~ \C/ Nl @ Cl CH:J, CCl,4 Cl
PES caEmae! @il
Cl H Cl
fermrem < e fefefe
Br F H ?1 ?I ca
I | |
Br—-C-F F-C-C-Cl H-C—-C—H H-C=C-Cl
él ] (l:'l (I:l
F B
fafi.a® (BCF) wpr TG eleipnp]
(fer) (BT )
Cl ('T‘l H

Ao Ea oo Raua 4o,




¢

01.
02.

03.

10.

11.

12.

13.

14.

74 WA

SR oy Atiw 2i5fers 71y @ e
witarifE: CH, = CH — CHO
GFIOTITESRIRE: CHy — CH = CH — CHO

ceRRF GAIfE: (CH,)(N,

/CH:\
OJN"T T‘NUI
\ N7
I
NO,
7 CHa\
0 0
GR T / (ORFEfERRs: | | (R G
CH, CH,
\Ng”

GTIRS14IEn26: NH, — NH — CO — NH,
T GIRFIEIIRS: NH, — NH — CS — NH,
0
R )
L ) L=k CHO
CHO

AR GRIRG: @rOH
COOH

‘ﬁﬂﬁﬁﬁiﬁﬁﬁdﬁﬁﬁt[iér”DH

0
|

mmmamiﬁﬂﬁﬁﬁf@ﬂ:

e Offs : CH, = CH — COOH
e afsre: @ CH = CH-COOH

COOH

AR R ¥ SIHIRI-02




VY -

OOH

CcooH
19. <fife offios (Phthalic acid or benzene-1, 2-discarboxylic acid) |

0
[
20. wEGHfRERE: @—NH-C—CH;

0

]
21.  WifBIR®s CH, — C — NH,
O
£ O
22, HIEES O | ECIEG R IIGEI EIGIASEE) Phenyl-2- hydroxybenzoate]

H
COOCH;

23.  Oil of Wintergreen S99 Wintergreen Oil: IERIEGENIGRIEIG T

OH
24, ANR-EACSHIP RIS 0=<} 0
35¢ ﬁv“aﬁ ‘ﬂ'ﬁ'ﬁ?ﬂ HD_;S —©—N"N—©—N{CHJL

26. WIfeE «fiie: HOOC — CH; — (j‘;H — COOH [Hydroxybutanedioic acid]

H

27. effE @ff®s CHy; — (CH,), — CH = CH — (CH,)- — COOH
. zm?r:"rmmsﬂns(cﬂl-!ﬂcmgH) ZJ?

28. 0% @f®s CH; — (CH,),3 — COOH [Hexadecanoic acid]

29. fefEs af¥Tes CHy — (CH,)4 — CH = CH — CH, — CH = CH — (CH,), — COOH
9,12—0ctadecadlienoic acid (Cy,H4, COOH)

30. wRvE affes CHy — CH — COOH (2- Hydroxypropanoic acid]
OH

31. TR @fF1G2 HOOC — CH — CH — COOH [2,3- dihydroxybutanedioic acid]

H H
32. RS Gffies HOOC — CH, — CH, — COOH
CH,-COOH
33. MaT ufies Ho-(ll'-CODH
CH,-COOH

34. ¥9<<F 4T3 CH; — CH = CH — CH = CH — COOH

hexa=2,4—dienoic acid

MCQ
01. M PTG ST CAMIY Z- [BUTEX'16-17]
(a) Chloropicrin (b) Phosgene (c) Chlortone (d) Methane
TN (a); GG ClsC — NO,
02. 67 epsatatt celtss 1o B carm 1l | [Ans: b] [CUET’14-15]

(i) 162 ot coifls 11 foieem) Sorere fstine siteat e
(ii) ST @7 o serere sy

OCONH, OCOCH; '0COCl OCONH;

(a) Oxalic acid; @’CDOH (b) Glycerol: @/CODH Gl @,OH @ Fat @CGEI
-E_ // 83 br // "




RT3 A SIHIRI-0R

[Ans: e] [RUET?13-14]

"
C=H
| (e) None
%H*”E_H
BRA
[Ans: d] [KUET’12-13]
II{ ,O~H-0_ O—FEI
e H—qu—hH WEE=K yC—CHs (c) N=0
H ‘\0-H--0 |
) - 0
Cl
“l \.. 7 N\ /Cl ?
(d) /Al \ /Al.\ (e) H0—©—N=D
Cl Cl Cl
Cl Cl, Cl
HAATYI: ﬂﬁﬁ "Téﬂ: \Al/ \A]/
VA
Cl \Cl/ \Cl
05. WAG —I1 OF ALFS (FA0? (Ans: ¢][KUET12-13]
(a) @— =N —’ () H0,s <O )—N=-N—<O)
SO;H OH
OH
O oH—~O)
(c) HO;S —@-N=N (O) (d) HO,S —@—N=N o)
(e) H0;8 < O )—N=N (O>
OH
06. fATea @G e ? [RUET?12-13]
(a) FCafeifErs (b) TREFT SARE  (c) GFITA (d) @S (¢) (T3 7q
FRI: (a); TR (CClz — NO,) 2T SIge
07. W2 e @ IITO T (FHIG? [Ans: a][RUET’12-13]
(a) Light Naphthalene (b) Kerosene (c) Gasoline (d) Petrol (e) None
08. s (FRIG EATSITRCAITTS mﬁﬁﬁ HLETS? [Ans: a] [CUET’11-12]
0
lI |
(a) Ph—JJ Ph (b) Ph—C-NH-NH, (c) Ph—C—NH, (d) None of these

__ [

E_’// [




VE V& -

09. Profas ulites i TuTFs @Fb?

NOy [ NOS NO, | 2 NO; NOp | 2 G, |
(a) (b) (c) \©/ (d) None of these
NO, NO, OH
OH
OaN NO,
ST (d); 0w Saas ‘[cjj
NO,
10. @R-PEER T TS @Eo? [Ans: ¢] [CUET’10-11]
11. FEE 99 &- [Ans: b] [CUET’10-11]
(a) IFSEF @S (b) D.D.T. (c) BT (d) None of these
.
12. fAafaRe cditefm i saee g [RUET"19-20]
(a) YA SIFHBIET Ob) TR (o) @R (d) Rofim-a  (e) B o T
ATTHTAG
ﬁ C#’O ,
FHqYE: (a) CH; — C— NH, (b) (C)I \C:‘:DH I
C"'/ OH
No
¢
HN'J\NN“‘“‘" H,3C CH3 CH3 1H3
DA AN, AN OH
(c) m . (d) W (€) KMnO,
cl N CH,
I 1| 11 v
13. AgFO & [RUET'18-19)
(i) Y120 (i) SHIOE A (iii) CSB& (iv) Fize sieae
W: (i) 3A1203. 25102 (ii) NﬂzSiUH
H
© (iv) NaO;5 ~<O- N = N~ N(CHy),
H3C CHj;
Cl
14, I, ATIfEs @ SR Ages fod | [BUTEX'18-19]
AAY:
CH; Cl OCOCHs
N:’/ \/N Cl Cl ©/COOH
‘ CH; CH>
7 ‘ Cl Cl
CH, CH, CH, Cl SHEIGIEE
N 1[q o s

@A
LN, /) - )




' AT Y 3 -0

[RUET'17-18]

/R

15.

(i) @O SIY: R = COO — R
(i) PR STY: (~CH, — CHCI ),
(iii ) FeoraTS' JAIYH: R — 0 — SO3Na 3t R~<O—S0O;Na
16. (a) N6t CiTet TR 7 @ Teas B [BUET'16-17]
() FRT 0T (i) B Wi (i) ofRRrm  (iv)TeRes  (v) R el B
(b) 6% WfFie Tiom siege in 97 Sigws fd )

(1) H,S0, (1) C,HOZ

FAYT: (a) (i) Marsh gas — Methane gas H — C — H

=—C1— =

H
I
(1) Wood alcohol — Methanol H — L;: — OH

H
(iii) Antifreeze — Ethylene glycol CH, — CH,
I

I
OH OH

(iv) Mothballs — Napthalene

(v) Vinegar — Acetic acid CH,COOH
(b) (i) H;SO3; & H* + HSO3  (ii) C,HO; = H* + C,0%™

17. (i) Picric acid (ii) Benzophenon (iii) Uric acid
(iv) Allayl alcohol (v) 2, 4-Dinitro phenyl hydrazone
H
OzN 0 Noz lﬁ.’f
HAATYI: (i) Picric acid: @ (i) Benzophenon:; @- C -@
NO,
N
(iii) Uric acid: | >=0 (iv) Allay! alcohol: CH, = CH — CH, — OH
O%N h’
NO,
(v) 2, 4-Dinitro phenyl hydrazone: R — {IJ = N— NH -@- NO,
H ;
18, fafeifre crermear 24 stfefas 7wes e [RUET’12-13]
() FFSfm (ii) O - AFTEEAERS affe (i) IR /A (iv) MREPIEE (v) S afe
H.C CH COUH
N SO,H
AT (7) . (i)
O- AT TS PG
OH
OH
(iii) FeS0y. (Nﬂnﬁﬁiﬂ* 6H,0 (1v) OH (v) CH, = _CH ;gooﬂ
ARCAPITEeT

_ // 833 / SIECITCE AR TE T L




T ) P/
19. Write the structural formula for the following compounds:
(i) T2l (i) BT (i) *RIFTETE
CHy CH, —OH
STYT: (i) 2T - <:L o (:ZH _OH (i) "y UH'@_TH
CH, - OH W,

[BUET’09-10, 11-12]

CH;-CH-CHj

20. fies Trafe vt qifdifenss =i ok CCI3NO, [RUET’11-12]
Y @A / e 7
21.  cevelem oA s e B [RUET’10-11)

%
(a) “RITBET sTae: HO —@—rla—c\
(b) qreFifem SYIA; CH, = CH — CHO
(c) firtZer weae STAIYI: H03S—@—N =N N

(d) FTRCH AT HAAYI: O

H H
Or-cfms-sm  mwen-g-fo b ot
H H
2. e deefm e s o) [CUET’09-10]

FAIYH: (i) PVC ; (i) Ffe: | O)
(_CHI - CH-)n N

23, e s () STRRF 2w (¥) Reiga e (o) R [BUTEX’03-04,08-09)

(%) Naso;— O >— N=N — O >—N (CHy):

24,  fArsa o Atetetam o stafa Trees fod [BUET’07-08]
COOH
SO,H

T O — AACPIETEIE e @/
25. fAea cieTEE SofReE Ao ferds [CUET?07-08]
HN D\
RC C-NH»
HAAYA: Melamine- 1[!; I!J
N F.J'
NH;

FALE FIOTEA TN SIS (e 4T

L /| = / r—




e N

26. fATa GTOTENR sitofia sterare s [CUET’07-08]

27,

30.

31,

CH,

/\

AHAIYE: Urotropene Hexamine: ‘ c.':h ,‘?“z

CH, CL CH,

[

Ao cseter stefies ses o) [CUET'07-08, BUET?05-06]

H:N
~N """N\.. ~NH;

C C OH
» 1) oY
\? TeenEE-2-0/
NH,
RUGIEES

TR 7 97 2Ffon Rferar orans @ a9 o [BUTEX’07-08]

WY FIRFTAMEAS mﬁ?wmaw|
NH,

1 @it (9], i B D)

NH,
[T I @3 T e [RUET?06-07]
w:mﬁwmmmmwﬁwmmmmn

AT ALFS: HoN - CO -~ NHz; )N—C—N{

fAaffe ctefem o4 i o fors [RUET?05-06]
(1) iso-butane (i1) Mustard gas (iii) Citric acid (iv) Succinic acid (v) 4-methyl-2-pentene
AAYI:
CH,
I
(1) Isobutane- CH; — CH — CH34
(ii) Mustard gas- CICH,CH,SCH,CH,Cl
Cli H, — COOH
(iff) Citric acid- € (OH) COOH
CH, — COOH

(iv) Succinic acid- HOOC — CH, — CH, — COOH
CH;

|
(v) 4 — methyl — 2 — pentene — CHz — CH = CH — CH — CH;
frafafe distefem 4 e ATPS ford | [RUET?04-05]

(a) P- TR0 SHTCSITI G =®-— N=N—@—OH
(b) Frefim ' QD CH - (CH),

(c) 3, 4-GrRe —1 A : l}Hz — CH — CH = CH,

Br r
NH -1

AT E=d LT Faga A46E...




e

32.  Write down the full structural formula of following compounds.
(1) Acrolein (i) Succinic acid (jii) Phenyl methyl ketone ~(iv) Diphenyl ketone
Solution: (i) H — C=g= €=0 (i) COOH — (CH), — COOH

H H H

CO - CHs

(i) @ (iv) (O)- c0 <O)
33, iR IR s [CUET’03-04]
(a) Tetra chloromethane- Gi2-fFr7 wiRss, S o< Rrwa)
(b) DDT- S5 g |
(¢) Detergent- *ffT&as ZEg )
(d) Polyamide- Fiiereafs ©g, 2w tofice|
(e) Esters- e 32 a1 e 1% (ofars, T wga Fisme e |
34. FafaRe cistetem 519 1o Taws fort [CUET’03-04]

Cl 0
I
5 C-0-H

Y (a) 6. fE B (:1_(::,-(;_1{ (b)WﬂTﬁWEH—ﬁ—H (c)cavmrﬁ:afnaﬁtss@
cn@ 0
Cl

i
0-C-CHj

COOH T
(d) SR (e) 273 H — -C-0-H
H

35. faraa feraorgR S1eebee RS AT “mida Ji ey s [BUTEX’03-04]
OAA™F

A @ICrg=s (CHCly)
36. Write the chemical structure: (a) aniline yellow  (b) methyl orange (¢) erysoidine

Solution: (a) O >—N = N —< O >—NH, [BUTEX’03-04]

NH>

) HS0; —O >— N = N —<O >— N(CH3); (©{O)—N = N ——2@)—“2

m—{y—X

Question Type-14: fafay

MCQ

01.  Which one of the following is the Benedict solution:
(2) A Water solution of glucose sodium carbonate and copper sulphate
(b) Water solution of sodiumn citrate, sodium carbonate and glucose

(c) Water solution of sodium carbonate, copper sulphate and sodium citrate
(d) Water solution of sodium carbonate, copper sulphate and potassium citrate
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[Ans: ¢][IUT*20-21]
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In IR spectra, the strct::hmg frequency of curhnxyhc -OH group arise at- [Ans: a] [TUT'17-18]
(2) 3300 = 2500cm™"  (b) 1760 — 1690cm=!  (c) 1320 — 1210cm*-1 (d) 1440 — 1395cm™?

03. D CES TR S Tt e BT #1191 3731 | QTS AgNO, 47 Sl T et <31 0T ST Szl et
W) S AR A Wy 39,25 QIBTS R cart v e fif g Gt Beom =@ cteifoa sttofer

TS o ﬂ: [KUET’14-15]
i X
(@)CHz =C -Cl (b) CICH, — CH (c) CH3CHCICH;,
(d) CH3CH,CH,Cl (e) CICH,CH,NH,
TR (b): QFNT QTR SHG G2 79 16 )
04. CEFIN STFE (Chrome Ochre) &EH{G? [Ans: ¢] [KUET’14-15]
(a) FeO.Cr, 0,4 (b) PbCro, (c) Cr,04 (d) NaCr,0, (e) Crz05
05. fRoon axletet et wiis Bua g A | b [Ans: d] [CUET’14-15]

(i) COTGIETAI COTTR “ifST=item et =0 @i ~iafore? (i) By 18w arat e @mis e w4t IR?

(a) Extractive distillation; Nitrobenzene (b) Destructive distillation; Anelene

(c) Steam distillation; Toluene (d) Fractional distillation; Phenol

06. fATEa ereter (UtE Hife Baa @ e | (Ans: a] [CUET’14-15]
(i) FETITH FE TR & @1 Rl qeem s a? (i) argfos = e @ cdibe sfmm?
(a) Tollen reagent; Isoprene (b) Grignard reagent; Isobutane
(c) Lucas reagent; Isopropane (d) Neslar reagent; Isopantane

07. TRToe erdatet it Afos Baa @z Ane | [Ans: b] [CUET’14-15]
(i) TFNH fCrarem f[RfeFaa ey Team @7 (i) s defem T =i wfbe
(a) R — CONH,; CH,COCI (b) R — NH,; Ag(NH,)Cl
(c) R — COCl; Ca(OCI)CI (d) R — COBr; (CH;C0),0

08. fATHA 2IGTAT (LT 1o ©a@a (@Tg 7S | [Ans: a] [CUET?14-15]
(i) CIO1 fATIe To M? (i) fRifirr AT S et @mib?
(a) —SO;H; 81 (b) —NH,; 100 (c) -X; 74 (d) —CHj; None of them

09. TATER 2PIGTe (AT oS BEd ([T 1S | [Ans: b] [CUET?14-15]
(i) AGE @R TFEEEs @3 7gee? (i) For @i Foar e aega e
(a) AlF,. 2NaF; C,H;Cl (b) AlF,.3NaF; CgHCle
(c) AlF;.2NaF; CH,Cl, (d) AlF,.4NaF; CHCl,

10. oo eetet s 6% Tea @rr Ans: [Ans: ¢] [CUET’14-15]
(i)mﬁwmmwmmﬁ? (ii) GETFIRA mmaﬁmmﬁawmqm
(a) Methanol; == (b) Ether; = (c) Surbital; ﬂ—j (d) Glycol; Zn — &

11. ftea erfetat (At AT ©ed @R 18 | [Ans: a] [CUET?14-15]
(i) Firea e Frei-Gr w1y @9 Bwigad? (i) fAesa @RS coiGreT «a SI4E fieers tndpe
(a) Maleic acid; Cs — Cy3 (b) Lactic acid; Cy3 — C;q
(c) Butane; C;5 — Cy3 (d) Dimethyal Ether; Cy; — Cys

12. o @ Alelfbd ~goArs STA060E @07 [BUET’13-14]
(a) CH;CH,0CH,CH; (b) C4Hyo (c) CH;CHO (d) C,H-OH

Sqt4i: (d); Alcohol > Aldehyde > Ether > Alkanes (as of b.p.). Alcohol has H-bond internally among the
molecules. So, b.p. of C;HgOH is the highest (78.3°C).
13. (@ Awfere S8 P W3 Mifds [Rrawd st =7 [Ans: a] [BUTEX’11-12]

(a) ST (b) &I (c) =A (d) (TETele

_ _ / 8¢ // - ARG o FEa ...
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14. (a) 97 TERFORT 9FTey AN 2,3-CRAEAREsH-2-u R F@ 7o T Ty 3t 91 o
TS CeH,, | RfFaa i fre e Rftrrm Sesim q<st ST s foff< wws oy

(b) Teiram fRfeFam Seem g giow stefae seas o) [BUET"16-17)
CHy CH,

CHy CHj
| I

| |

TN (a); Ricraie wny Fewe f[fewar CH; - C-¢C- CHg W14, CH, — € — CH — CH,
OH P OH

L T

| |
H H-C-H H-C-H H H H—nlz—H H—t]:-H Iii
| I | | |

®H-C- C = C —C-HaRH-C= C - ¢ —C-H
H

H H
15. o fRferan e aidwm-Bizm fafer adfat v v fRfermr 3 st siere s e [CUET?13-14]

ONa OH OH
4=7atm COONa H,0 @»COOH NaCl

TA: P 19 i!“:@ +L0; 125°C HCl
ONa OH

60°C

AR BRI ffeF: @ +CHCl; + 2NaOH —— CHO L anaci+ 2H,0
16. AT F92 GO, IO FFE, FRFEH, fCorawes, 26w [RUET’10-11)
HAY: o1 FETAFS afftes —0H JEafs sureaf (R — 0—) o< ael aifegfre 2= @ teg ct ey

T OIF GO 0 |
SR A3 (I CIRIET SR i) STifeT Taieas T Sfena @ »ifar et aiee 71 2, ¢iR a8, s
R 72 2N 3B TS TS 50 SR T TS * SN T, B @ SHITIEA G Seib g 1)

HARNETE 0o @ 5{4t3 NaOH 91 KOH B3¢ %at 5% [Reese Saa qd«rey e 41 «o1Emm Jaw » s

TR 1 OTF AR 0T |
WSWWWWWWHTWWWI

2efamts 20T 2r5r FEfF @fFted GIRSIIRT 41 SRS | 97 ALTo: sz--Ll ~NH;

17. 90, AFTAE SRR TR o, 79 [BUET’09-10]
H,0, 93 AN GG RiFa T3 = -
7Wiﬂ1ﬂiﬂ l*z()z 4‘[33 '*‘}12(]'+22{)z

OH

NO,
HNO
ST OH —@ i +2H,0
———
NO,

(d) Ao ze

eD°C
ST @— OH + CHCl; + NaOH —— @2— CHO +NaCl + H,0

OH
L GEIGICEEY
TfEEReEe e

_-, // 8v // ST ey Wy oA,
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18. TOTEF TG T HAe! AEIRe @RIZS (U (TaioRiRs earss RRFewE! (s |

CH:CI CH,OH
W-‘@ + H,0 — @ + HCI [BUET'07-08, RUET’09-10]

Cu(NO3)z + 2HCl = CuCl, + 2HNO;; 2HNO; = 2NO + H,0 + 3[0]

19. ﬁiﬁfﬁﬁﬁmﬁﬁwmﬁwﬁﬁﬁmﬁﬂml [RUET’09-10]
PRISREAE T8 SIS CIBemRe (V,0,) eforwed Sofifers arm Siiee ael wiffs =
ofEe ufie Sesm )

CHj COOH

20. fRTo9 (M0 @THRED Taa? | [Ans:a] [KUET’08-09]
(a)CTITSAI ST, T AL G2 GNEAT 73E @7 oy 744 |
(b) LT, ST T G2 TR AETTT 97 T H3° |
(c) TSN FTRGEE, RN T 932 YIS 97 T B9 |
(d) GTITGHI ST, To{19 FCFE @2 ABIF BWEE «F S B9 |

(€) R T, CTICAT FREE 932 P3G THBT W Gy T3 |
21. What is detergent? Write down the formula of detergent. [RUET’05-06]
Solution: Chemically detergents are long chained sodium salts of alkyl hydrogen sulphate or sodium salts of long

chained alkyl benzene sulfonic acid.

0 0
Formula: R— 0 — # —0~Na*; R —©— % — 0~ Na*
0 0

22. fACam erotama Ted wnes [CUET?03-04)
(a) AT2FDT @ ACAHe AFoT ToTs F 7AW (b) et RfdFm
(c) DR (It (e &Fred TareacatE! o | (d) TG @A 7 Trizad wie |

(e) Y& TS, 4 @ %A AL Ao fSa0 2irea 9 @14 | Cr*5¥eT, Co *51#1 8 Mn *Bie
TN (a) @ PO T[RRI T T W, O AT 3w 9w, @ A5 @y

GFEIE3 O LT T4 7S], ©12 AT 41w -.
(b) ot~ FIET *FTre H R Seferie—aa i wee R e R am-

A
(©)-cHo + NaoH (1) ——— {O)~C00Na +{O)~CH,0H

CHs COOH

KMnO, : NaDH[EaDE@
(c)@ +10] —on @ 2 &) +NaxC0s

(d) 9% GTfers tmida e A6 T (o A PTE STMa TR S O SERe ST @ A
*Iha7t 1%, TM SIS =27 6 AR SRS OIS @96 —CH, Teea #14aT Aee AL, qTAE AP
GG AR L RN TP F1 A IR & A FAAIR T 0T | G ST (CH,, Co g 2BT)

() Cr™3@ - 2%Cr, 97%Fe, 1%C - &, TR - 39 Raifae dgs T =
Co™e - 9%Co, 90%Fe, 1%C

- ¥ 8 T (o157 v ¥R - 3a fRnfie @ g1l e tof vt =
Mn 7Bl - 13%Mn, 86%Fe, 1%C
— TR, SR I - TARA TFei1fS, T 113 ergfore a9 =

i // 89 // _ AFASTTT ST TARYA *Heb...




